
Porsche 914
Common Hardware Reference List

Revision 0.3 — 03 November 2021

Compiled by Gord Dimitrieff

Please send any notes, corrections or suggestions to:
gord.dimitrieff@gmail.com

DISCLAIMER
While every attempt was made to ensure that the information contained in this Reference List
has been obtained from reliable sources, the author is not responsible for any errors or
omissions, or for the results obtained from the use of this information.  All information in this
Reference List is provided “as-is”, with no guarantee of completeness, accuracy, timeliness or of
the results obtained from the use of this information, and without warranty of any kind, express
or implied, including but not limited to warranties of performance, merchantability and fitness for
a particular purpose.  In no event will the author be liable to you or anyone else for any decision
made or action taken in reliance on the information in this Reference List or for any
consequential, special or similar damages, even if advised of the possibility of such damages.

Note: this Reference List does not document
any uses in engine or transmission internals.



Table of Contents
Part Description (number per car) Page

Castle nut M10x1 — DIN-937 — phr, 2 per car..................................................................................... 10
Chrome Cone Protection Washer, 10 per car........................................................................................10
Circlip, 1 per car.....................................................................................................................................10
Circlip 17x1 — DIN-471 — none, 1 per car........................................................................................... 10
Circlip 32x1,2 — DIN-472 — none, 1 per car........................................................................................ 11
Circlip 35x1,5 — DIN-472 — none, 4 per car........................................................................................ 11
Circlip 40 — DIN-9045 — none, 2 per car............................................................................................. 11
Circlip, steering column, 1 per car......................................................................................................... 11
Clevis G6x24 (fork head) — DIN-71752 — verz, 1 per car................................................................... 12
Contact spring, 8 per car....................................................................................................................... 12
Cotter pin 1,5x10 — DIN-94 — verz, 2 per car...................................................................................... 12
Cotter pin 2x15 — DIN-94 — none, 2 per car........................................................................................12
Cotter pin 2x25 — DIN-94 — none, 2 per car........................................................................................13
Cotter pin 3x15 — DIN-94 — none, 2 per car........................................................................................13
Cotter pin 3x20 — DIN-94 — none, 2 per car........................................................................................13
Counters. head tapp. screw 2,9x13 — DIN-7982 — stainless, 18 per car............................................ 14
Counters. head tapp. screw 4,2x13 — DIN-7982 — verz, 2 per car..................................................... 14
Counters. head tapp. screw B4,2x19, 4 per car.................................................................................... 14
Countersunk-head screw 6x12 — DIN-63 — verz, 4 per car................................................................ 14
Countersunk-head screw AM4x8 — DIN-7987 — verz, 6 per car......................................................... 14
Countersunk-head screw AM5x12, 4 per car........................................................................................ 15
Countersunk-head screw AM5x12 — DIN-7987 — verz, 2 per car....................................................... 15
Countersunk-head screw AM5x8 — DIN-7987 — verz, 2 per car......................................................... 15
Eccentric bolt 6H11x16x12 — DIN-1435 — verz, 2 per car.................................................................. 15
Half-round screw AM4x8 — DIN-7986 — verz, 8 per car......................................................................16
Hexagon nut, 1 per car.......................................................................................................................... 16
Hexagon nut 8x20, 1 per car................................................................................................................. 16
Hexagon nut BM5, 3 per car.................................................................................................................. 16
Hexagon nut BM6, 4 per car.................................................................................................................. 16
Hexagon nut BM8, 1 per car.................................................................................................................. 17
Hexagon nut M10 — DIN-70615 — verz, 6 per car............................................................................... 17
Hexagon nut M10 — DIN-934, 4 per car............................................................................................... 17
Hexagon nut M10 (Flat with small width across flat) — DIN-70616 — verz, 2 per car..........................17
Hexagon nut M14x1,5, 6 per car........................................................................................................... 18
Hexagon nut M14x1,5 — DIN-934 — verz, 3 per car............................................................................ 18
Hexagon nut M14x1,5 — DIN-963 — phr, 1 per car..............................................................................18
Hexagon nut M14x1,5 (thin) — DIN-80705 — verz, 1 per car...............................................................18
Hexagon nut M18x1,5 — DIN-936 — verz, 5 per car............................................................................ 18
Hexagon nut M4 — DIN-934 — verz, 4 per car..................................................................................... 19
Hexagon nut M5 — DIN-934 — verz, 7 per car..................................................................................... 19
Hexagon nut M6 — DIN-985 — verchr., 12 per car...............................................................................19



Table of Contents
Part Description (number per car) Page

Hexagon nut M6 UNI-STOP U 13.6 — verz, 2 per car.......................................................................... 20
Hexagon nut M7 (nylon insert) — DIN-982 — verz, 1 per car............................................................... 20
Hexagon nut M8, 2 per car.................................................................................................................... 20
Hexagon nut M8 — DIN-934 — verz, 69 per car................................................................................... 20
Hexagon nut M8 (low profile) — DIN-936 — verz, 2 per car................................................................. 21
Hexagon nut M8 (N01-100-88) — DIN-934 — verz, 25 per car............................................................ 21
Hexagon nut M8 (nylon insert) — DIN-982 — verz, 4 per car............................................................... 22
Hexagon nut M8 Self-locking, 6 per car.................................................................................................22
Hexagon socket head bolt M5x15, 8 per car......................................................................................... 22
Hexagon-head bolt (Engine Mount 914-6) — DIN-960 — verz, 1 per car............................................. 22
Hexagon-head bolt B2,9x16, 2 per car.................................................................................................. 23
Hexagon-head bolt B8x15 — DIN-933, 6 per car.................................................................................. 23
Hexagon-head bolt BM6x30, 1 per car.................................................................................................. 23
Hexagon-head bolt BM8x95, 1 per car.................................................................................................. 23
Hexagon-head bolt M10x115 — DIN-931, 2 per car............................................................................. 23
Hexagon-head bolt M10x15 — DIN-933 — verz, 2 per car................................................................... 24
Hexagon-head bolt M10x18 — DIN-933, 12 per car............................................................................. 24
Hexagon-head bolt M10x20 — DIN-933 — verz, 2 per car................................................................... 24
Hexagon-head bolt M10x22 — DIN-933 — verz, 2 per car................................................................... 24
Hexagon-head bolt M10x25 — DIN-933 — verz, 2 per car................................................................... 25
Hexagon-head bolt M10x30 — DIN-933 — verz, 4 per car................................................................... 25
Hexagon-head bolt M10x32 — DIN-933 — verz, 2 per car................................................................... 25
Hexagon-head bolt M10x35 — DIN-933, 2 per car............................................................................... 25
Hexagon-head bolt M10x40 — DIN-931 — verz, 2 per car................................................................... 26
Hexagon-head bolt M10x55 — DIN-931 — bostik, 6 per car................................................................ 26
Hexagon-head bolt M10x70 — DIN-931 — phr, 2 per car.....................................................................26
Hexagon-head bolt M10x85, 2 per car.................................................................................................. 26
Hexagon-head bolt M10x90, 2 per car.................................................................................................. 27
Hexagon-head bolt M12x1,5x30 — DIN-960 — phr, 12 per car............................................................27
Hexagon-head bolt M12x1,5x55, 4 per car............................................................................................27
Hexagon-head bolt M12x1,5x80 — DIN-960 — verz, 2 per car............................................................ 28
Hexagon-head bolt M4x8 — DIN-933 — verz, 1 per car....................................................................... 28
Hexagon-head bolt M5x10 — DIN-933 — verz, 9 per car..................................................................... 28
Hexagon-head bolt M5x12 — DIN-933 — verz, 25 per car................................................................... 29
Hexagon-head bolt M5x18, 8 per car.................................................................................................... 29
Hexagon-head bolt M5x20 — DIN-933 — verz, 16 per car................................................................... 29
Hexagon-head bolt M6x(?), 4 per car.................................................................................................... 30
Hexagon-head bolt M6x10K — DIN-993 — verz, 20 per car.................................................................30
Hexagon-head bolt M6x12 — DIN-933 — verz, 77 per car................................................................... 30
Hexagon-head bolt M6x15 — DIN-933 — verz, 25 per car................................................................... 31
Hexagon-head bolt M6x16 — DIN-933 — verz, 23 per car................................................................... 31



Table of Contents
Part Description (number per car) Page

Hexagon-head bolt M6x18, 8 per car.................................................................................................... 32
Hexagon-head bolt M6x18, 3 per car.................................................................................................... 32
Hexagon-head bolt M6x18 — DIN-933, 5 per car................................................................................. 32
Hexagon-head bolt M6x20, 36 per car.................................................................................................. 32
Hexagon-head bolt M6x30 — DIN-931 — verz, 4 per car..................................................................... 32
Hexagon-head bolt M6x35 — DIN-931 — verz, 2 per car..................................................................... 33
Hexagon-head bolt M6x38 — DIN-931 — verz, 2 per car..................................................................... 33
Hexagon-head bolt M6x8, 16 per car.................................................................................................... 33
Hexagon-head bolt M6x8, 1 per car...................................................................................................... 33
Hexagon-head bolt M6x95, 2 per car.................................................................................................... 33
Hexagon-head bolt M8x10 — DIN-933 — verz, 12 per car................................................................... 34
Hexagon-head bolt M8x12 — DIN-933 — verz, 6 per car..................................................................... 34
Hexagon-head bolt M8x15 — DIN-933 — verz, 32 per car................................................................... 34
Hexagon-head bolt M8x16 — DIN-933, 4 per car................................................................................. 35
Hexagon-head bolt M8x18 — DIN-933 — gal Zn 8c, 14 per car........................................................... 35
Hexagon-head bolt M8x20, 4 per car.................................................................................................... 35
Hexagon-head bolt M8x20 — DIN-933 — verz, 12 per car................................................................... 35
Hexagon-head bolt M8x22 — DIN-933 — verz, 12 per car................................................................... 36
Hexagon-head bolt M8x25, 2 per car.................................................................................................... 36
Hexagon-head bolt M8x25 — DIN-933 — verz, 13 per car................................................................... 36
Hexagon-head bolt M8x28 — DIN-933, 13 per car............................................................................... 36
Hexagon-head bolt M8x30, 3 per car.................................................................................................... 37
Hexagon-head bolt M8x30 — DIN-933 — verz, 4 per car..................................................................... 37
Hexagon-head bolt M8x32 — DIN-931 — verz, 1 per car..................................................................... 37
Hexagon-head bolt M8x35 — DIN-931 — verz, 15 per car................................................................... 37
Hexagon-head bolt M8x35 (battery holddown), 1 per car......................................................................38
Hexagon-head bolt M8x40 — DIN-931 — verz, 12 per car................................................................... 38
Hexagon-head bolt M8x42 — DIN-931 — verz, 4 per car..................................................................... 38
Hexagon-head bolt M8x45, 3 per car.................................................................................................... 38
Hexagon-head bolt M8x45 — DIN-931 — verz, 2 per car..................................................................... 39
Hexagon-head bolt M8x52, 2 per car.................................................................................................... 39
Hexagon-head bolt M8x62 — DIN-931 — verz, 4 per car..................................................................... 39
Hexagon-head bolt M8x8 — DIN-933 — verz, 3 per car....................................................................... 39
Hexagon-head bolt with Sealing ring M4x8, 1 per car........................................................................... 40
Hexagon-head tapping screw B4,2x13 — DIN-7976 — verz, 8 per car................................................ 40
Hexagon-head tapping screw B4,8x16 — DIN-7976 — verz, 6 per car................................................ 40
Hexagon-head tapping screw B5,5x16 — DIN-7976 — verz, 1 per car................................................ 41
Hexagon-head tapping screw B6,3x16 — DIN-7976 — verz, 4 per car................................................ 41
Hexagon-head tapping screw BZ4,2x19 — DIN-7976 — verz, 4 per car.............................................. 41
Hexagon-head tapping screw BZ4,8x19 — DIN-7976 — verz, 2 per car.............................................. 41
Hexagon-head tapping screw M5,5x19, 4 per car................................................................................. 42



Table of Contents
Part Description (number per car) Page

Hollow washer — verchr., 5 per car.......................................................................................................42
Insulating piece, 1 per car......................................................................................................................42
Lock nut M5, 1 per car........................................................................................................................... 42
Lock nut M6 — DIN-985 — verz, 3 per car............................................................................................42
Lock nut M8, 12 per car......................................................................................................................... 43
Lock ring 10 — DIN-7980 — phr, 14 per car......................................................................................... 43
Lock ring A5 — DIN-127 — phr B, 4 per car......................................................................................... 43
Lock ring A6 — DIN-127 — phr B, 17 per car....................................................................................... 44
Lock ring A8 — DIN-127 — phr, 17 per car........................................................................................... 44
Lock ring B10 — DIN-137 — verz, 26 per car....................................................................................... 44
Lock ring B12 — DIN-137 — phr B, 15 per car..................................................................................... 45
Lock ring B12 (plated/coated) — DIN-137 — verz, 2 per car................................................................ 45
Lock ring B18 — DIN-127 — phr, 2 per car........................................................................................... 45
Lock ring B4, 2 per car...........................................................................................................................46
Lock ring B5 — DIN-127 — phr B, 31 per car....................................................................................... 46
Lock ring B6 — DIN-127 — verz, 92 per car......................................................................................... 46
Lock ring B6 — DIN-137 — phr, 5 per car............................................................................................. 46
Lock ring B8 — DIN-127 — verz, 83 per car......................................................................................... 47
Lock ring B8 — DIN-7980 — phr, 2 per car........................................................................................... 47
Lock washer 4 — DIN-6799 — verz, 2 per car...................................................................................... 48
Lock washer 5 — DIN-6799 — phr, 9 per car........................................................................................48
Lock washer 8 — DIN-6799 — phr, 2 per car........................................................................................48
Lock washer J6,4, 1 per car...................................................................................................................48
Nut M10 (nylon insert) — DIN-982 — gal Zn 8c, 3 per car....................................................................49
Nut M5 — DIN-934 — verz, 30 per car..................................................................................................49
Nut M6 — DIN-934 — verz, 73 per car..................................................................................................49
Oval-head screw AM 6x10, 6 per car.................................................................................................... 50
Oval-head screw AM3x8 — DIN-7985 — verz, 2 per car...................................................................... 50
Oval-head screw AM4x10 — DIN-7985 — verz, 6 per car.................................................................... 51
Oval-head screw AM5x10 — DIN-7985 — verz, 1 per car.................................................................... 51
Oval-head screw AM5x6, 2 per car....................................................................................................... 51
Oval-head screw AM6x10 — DIN-7985 — verz, 11 per car.................................................................. 52
Oval-head screw AM6x12 — DIN-7985 — verz, 40 per car.................................................................. 52
Oval-head screw AM6x15 — DIN-7985 — verz, 8 per car.................................................................... 52
Oval-head screw AM6x20 — DIN-7985 — verz, 2 per car.................................................................... 52
Oval-head screw BM6x30, 2 per car..................................................................................................... 53
Oval-head sheetmetal screw 3,5x19 — DIN-7981 — verz, 15 per car..................................................53
Oval-head sheetmetal screw AM5x10 — DIN-7986 — verz, 4 per car................................................. 53
Oval-head sheetmetal screw B2,9x13 — DIN-7981 — verz, 2 per car................................................. 53
Oval-head sheetmetal screw B2,9x9,5, 8 per car.................................................................................. 54
Oval-head sheetmetal screw B3,5x13 — DIN-7981 — verz, 22 per car............................................... 54



Table of Contents
Part Description (number per car) Page

Oval-head sheetmetal screw B3,5x13 — DIN-7981 — verz, 8 per car................................................. 54
Oval-head sheetmetal screw B3,5x16, 22 per car................................................................................. 54
Oval-head sheetmetal screw B3,5x6,5 — DIN-7981, 6 per car.............................................................55
Oval-head sheetmetal screw B3,5x9,5 — DIN-7981 — verz, 26 per car.............................................. 55
Oval-head sheetmetal screw B3,9x9,5 — DIN-7981 — verz, 2 per car................................................ 55
Oval-head sheetmetal screw B4,2x13 — DIN-7981 — verz, 14 per car............................................... 56
Oval-head sheetmetal screw B4,8x13, 1 per car................................................................................... 56
Oval-head sheetmetal screw B4,8x16 — DIN-7981 — verz, 2 per car................................................. 56
Oval-head sheetmetal screw B4,8x19 — DIN-7981 — verz, 1 per car................................................. 56
Oval-head sheetmetal screw B4,8x9,5, 7 per car.................................................................................. 57
Oval-head sheetmetal screw B5,5x16 — DIN-7981 — verz, 12 per car............................................... 57
Oval-head sheetmetal screw B5,5x25, 2 per car................................................................................... 57
Oval-head sheetmetal screw BZ 4,8 X 9,5 — DIN-7971 — verz, 6 per car...........................................58
Oval-head sheetmetal screw BZ3,5x6,5, 2 per car................................................................................58
Oval-head sheetmetal screw BZ4,2x16 — DIN-7981 — verz, 2 per car............................................... 58
Oval-head sheetmetal screw BZ4,2x19 — DIN-7981 — verz, 4 per car............................................... 58
Pan-head screw AM2,6x15 (brass) — DIN-84, 1 per car...................................................................... 59
Pan-head screw AM3x8 — DIN-84 — verz, 4 per car........................................................................... 59
Pan-head screw AM4,8 — DIN-84, 4 per car........................................................................................ 59
Pan-head screw AM4x10, 1 per car...................................................................................................... 59
Pan-head screw AM4x6 — DIN-84 — verz, 3 per car........................................................................... 60
Pan-head screw AM5x10, 4 per car...................................................................................................... 60
Pan-head screw AM5x8, 4 per car........................................................................................................ 60
Pan-head screw AM6x10 — DIN-84, 37 per car................................................................................... 60
Pan-head screw AM6x15, 6 per car...................................................................................................... 61
Pan-head screw AM6x15 — DIN-84 — verz, 3 per car......................................................................... 61
Pan-head screw AM6x30, 2 per car...................................................................................................... 61
Pan-head screw AM6x8, 4 per car........................................................................................................ 61
Pan-head screw BM 5 X 35 — DIN-84 — verz, 1 per car..................................................................... 62
Pan-head screw M10x110 — DIN-912 — verz, 2 per car..................................................................... 62
Pan-head screw M10x150 — DIN-912 — verz, 1 per car..................................................................... 62
Pan-head screw M10x16, 2 per car....................................................................................................... 62
Pan-head screw M10x20 — DIN-912 — verz, 6 per car....................................................................... 63
Pan-head screw M3x10 — DIN-84 — verz, 2 per car........................................................................... 63
Pan-head screw M4x10 — DIN-84 — verz, 6 per car........................................................................... 63
Pan-head screw M5x10 — DIN-912 — verz, 2 per car......................................................................... 63
Pan-head screw M5x18 — DIN-912 — verz, 4 per car......................................................................... 64
Pan-head screw M5x6 — DIN-84 — verz, 1 per car............................................................................. 64
Pan-head screw M6x10 — DIN-912 — verz, 12 per car....................................................................... 64
Pan-head screw M6x12, 5 per car......................................................................................................... 64
Pan-head screw M6x12 — DIN-6912 — verz, 13 per car..................................................................... 65



Table of Contents
Part Description (number per car) Page

Pan-head screw M6x15 — DIN-912 — verz, 2 per car......................................................................... 65
Pan-head screw M6x15 (seat rails) — DIN-6912 — verz, 16 per car....................................................65
Pan-head screw M6x18, 3 per car......................................................................................................... 65
Pan-head screw M6x20 — DIN-84 — verz, 9 per car........................................................................... 66
Pan-head screw M8x16 — DIN-7984 — verz, 2 per car....................................................................... 66
Pan-head screw M8x16 (N 014 707 4), 4 per car.................................................................................. 66
Pan-head screw M8x20 — DIN-912 — verz, 4 per car......................................................................... 67
Pan-head screw M8x22, 1 per car......................................................................................................... 67
Pan-head screw M8x40 — DIN-912 — verz, 4 per car......................................................................... 67
Pan-head screw M8x45 — DIN-912 — phr, 1 per car........................................................................... 67
Pan-head tapping screw B3,5x9,5 — DIN-7971 — bostik, 3 per car.....................................................67
Pan-head tapping screw B3,9x6,5, 1 per car.........................................................................................68
Pan-head tapping screw B4,2x9,5 — DIN-7971, 4 per car....................................................................68
Pan-head tapping screw B5,5x16 — DIN-7971 — verz, 4 per car........................................................ 68
Plastic nut M8 — DIN-934, 9 per car..................................................................................................... 68
Rais. counters. h. tap. s. AM5x15, 4 per car..........................................................................................69
Rais. counters. h. tap. s. B2,9x19 — DIN-7983 — verz, 2 per car........................................................ 69
Rais. counters. h. tap. s. B2,9x6,5, 2 per car.........................................................................................69
Rais. counters. h. tap. s. B2,9x9,5 — DIN-7981 — verz, 4 per car....................................................... 69
Rais. counters. h. tap. s. B2,9x9,5 Chrome, 8 per car...........................................................................70
Rais. counters. h. tap. s. B3,5x16 — DIN-7983 — stainless, 10 per car............................................... 70
Rais. counters. h. tap. s. B3,5x19 — DIN-7983, 9 per car.....................................................................70
Rais. counters. h. tap. s. B3,5x25 — DIN-7983 — verz, 1 per car........................................................ 70
Rais. counters. h. tap. s. B3,9x13 — DIN-7983 — verz, 4 per car........................................................ 71
Rais. counters. h. tap. s. B3,9x19 — DIN-7983 — verz, 4 per car........................................................ 71
Rais. counters. h. tap. s. B4,2x13 — DIN-7983 — verz, 6 per car........................................................ 71
Rais. counters. h. tap. s. B4,2x9,5 — DIN-7983 — verz, 6 per car....................................................... 71
Rais. counters. h. tap. s. B4,8x16 — DIN-7983 — verz, 2 per car........................................................ 72
Retaining Clip — verz, 4 per car............................................................................................................ 72
Serrated lock washer A3,2 — DIN-6798 — phr, 4 per car.....................................................................72
Serrated lock washer A4,3 — DIN-6798 — phr, 6 per car.....................................................................72
Serrated lock washer A5,1 — DIN-6798 — phr B, 2 per car................................................................. 73
Serrated lock washer A8,4, 1 per car.................................................................................................... 73
Shake-proof washer A4,3, 2 per car...................................................................................................... 73
Shake-proof washer A4,3 — DIN-6797 — phr, 7 per car...................................................................... 73
Shake-proof washer A5,1 — DIN-6797 — phr E, 1 per car...................................................................74
Shake-proof washer A6,4 — DIN-6797 — phr B, 32 per car.................................................................74
Shake-proof washer A8,4, 2 per car...................................................................................................... 74
Shake-proof washer J6,4 — DIN-6797 — verz, 31 per car................................................................... 75
Shake-proof washer J8,2 — DIN-6797 — phr, 8 per car.......................................................................75
Speed nut, 2 per car.............................................................................................................................. 75



Table of Contents
Part Description (number per car) Page

Speed nut, 6 per car.............................................................................................................................. 75
Speed nut 4,2, 4 per car........................................................................................................................ 76
Speed nut 4,2 — verz, 4 per car............................................................................................................ 76
Speed nut 4,8, 4 per car........................................................................................................................ 76
Speed nut 4,8, 6 per car........................................................................................................................ 76
Speed nut B3,5, 16 per car.................................................................................................................... 76
Speed nut B3,5, 1 per car...................................................................................................................... 76
Speed nut B3,5, 19 per car.................................................................................................................... 76
Speed nut B3,5 — verz, 2 per car......................................................................................................... 76
Speed nut B4,2, 3 per car...................................................................................................................... 77
Speed nut B4,2, 4 per car...................................................................................................................... 77
Speed nut B4,2 — verz, 12 per car....................................................................................................... 77
Speed nut B6,3, 6 per car...................................................................................................................... 77
Speed Nut, M3.5 x 16.5, 4 per car......................................................................................................... 77
Spring washer 8 — DIN-6798 — phr, 4 per car..................................................................................... 78
Spring washer A7 — DIN-137 — phr B, 1 per car................................................................................. 78
Spring washer A8, 2 per car.................................................................................................................. 78
Spring washer A8 — DIN-137 — phr, 3 per car.................................................................................... 78
Spring washer B10 — DIN-137, 4 per car............................................................................................. 79
Spring washer B10x18 — DIN-137 — phr B, 6 per car......................................................................... 79
Spring washer B14 — DIN-137 — phr, 2 per car.................................................................................. 79
Spring washer B18 — DIN-137 — phr, 3 per car.................................................................................. 80
Spring washer B4 — DIN-137, 3 per car............................................................................................... 80
Spring washer B4 — DIN-137 — phr B, 7 per car................................................................................. 80
Spring washer B5 — DIN-137 — phr B, 6 per car................................................................................. 80
Spring washer B5 — DIN-137 — verz, 2 per car................................................................................... 80
Spring washer B6 — DIN-137, 68 per car............................................................................................. 80
Spring washer B8, 11 per car................................................................................................................ 81
Spring washer B8x15 — DIN-137 — phr B, 52 per car......................................................................... 81
Spring washer V5,3 — DIN-6798 — phr, 6 per car............................................................................... 82
Square nut M4, 1 per car....................................................................................................................... 82
Square nut M5 — DIN-562 — verz, 1 per car........................................................................................82
Straight pin 4M6x14, 2 per car...............................................................................................................82
Stud AM8x50, 4 per car......................................................................................................................... 83
Stud BM 8x20 — DIN-8, 2 per car......................................................................................................... 83
Stud M8Ax32, 1 per car......................................................................................................................... 83
Tab washer 14 — DIN-462 — phr, 2 per car......................................................................................... 83
Tapping screw 3,9x6,5 — DIN-7971 — verz, 1 per car......................................................................... 84
Tapping screw 4,8x13, 3 per car........................................................................................................... 84
Tapping screw AM6x18, 1 per car......................................................................................................... 84
Tapping screw B4,2x9,5, 4 per car........................................................................................................ 84



Table of Contents
Part Description (number per car) Page

Tapping screw B4,8x22 — DIN-7983 — verz, 6 per car........................................................................85
Tapping screw BZ 2,9 X 19 — DIN-7981, 4 per car.............................................................................. 85
Tapping screw BZ4,8x13 — DIN-7981 — phr, 7 per car....................................................................... 85
Tapping screw BZ4,8x9,5 — DIN-7981 — verz, 8 per car.................................................................... 86
Threaded pin AM5x6, 1 per car............................................................................................................. 86
Washer - large 5mm, 2 per car.............................................................................................................. 86
Washer — need more info!, 4 per car....................................................................................................86
Washer 10,5 — DIN-125 — verz, 26 per car......................................................................................... 87
Washer 15, 1 per car............................................................................................................................. 87
Washer 4,3 — DIN-125 — verz, 15 per car........................................................................................... 87
Washer 4,3 — DIN-4, 1 per car............................................................................................................. 87
Washer 5,1, 4 per car............................................................................................................................ 88
Washer 5,3 — DIN-125 — verz, 62 per car........................................................................................... 88
Washer 6 — DIN-1440 — verz, 12 per car............................................................................................ 89
Washer 6,4 — DIN-125 — verz, 116 per car......................................................................................... 89
Washer 6,4 — DIN-125 — verz, 12 per car........................................................................................... 89
Washer 7, 66 per car............................................................................................................................. 89
Washer 7 — DIN-1440 — verz, 1 per car.............................................................................................. 89
Washer 7,4, 1 per car............................................................................................................................ 90
Washer 8,4 — DIN-433 — verz, 5 per car............................................................................................. 90
Washer 8,4 (N-) — DIN-433 — verz, 8 per car......................................................................................90
Washer 9,5, 1 per car............................................................................................................................ 91
Washer A13 — DIN-433 — verz, 2 per car........................................................................................... 91
Washer A4,3 — DIN-9021 — verz, 7 per car........................................................................................ 91
Washer A6,4 — DIN-9021 — verz, 10 per car...................................................................................... 92
Washer A8,4 — DIN-125 — verz, 75 per car........................................................................................ 92
Washer B3 — DIN-137 — phr, 2 per car............................................................................................... 93
Washer B3,2 — DIN-9021 — verz, 2 per car........................................................................................ 93
Washer B3,7, 2 per car.......................................................................................................................... 93
Washer B5,3 — DIN-9021 — verz, 16 per car...................................................................................... 93
Washer B6,4 — DIN-9021 — verz, 50 per car...................................................................................... 94
Washer B8,4 — DIN-9021 — verz, 20 per car...................................................................................... 94
Washer B8.4 Din 9021 — Al-Mg Si F32 — DIN-9021, 2 per car........................................................... 95



Porsche 914
Common Hardware Reference

Castle nut M10x1 continued:

Castle nut M10x1
Nut, slotted, M10

937
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 011 210 1
900 079 004 01

Part Number(s):

phosphatingCorrosion Protection:

403-00 Steering gear, Steering linkage...............................................................................2

Chrome Cone Protection Washer
Hollow disc, chromium plated
(finishing washer)

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

999 591 102 12
999 591 009 12

Part Number(s):

Corrosion Protection:

807-05 Interior equipment, Rear......................................................................................... 9
808-00 Seat......................................................................................................................... 1

Circlip
Snap Ring

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 906 005 01
Part Number(s):

Corrosion Protection:

117-05 Intake connection, Intake pipe, Control shaft.......................................................... 1

Circlip 17x1
Lock ring

471DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 041 008 00
Part Number(s):

noneCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 1

Page 10



Porsche 914
Common Hardware Reference

Circlip 32x1,2 continued:

Circlip 32x1,2

472DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 042 007 00
Part Number(s):

noneCorrosion Protection:

403-15 Steering gear, Repair material................................................................................ 1

Circlip 35x1,5

472DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 042 008 00
Part Number(s):

noneCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 2
403-10 Steering shaft, Steering wheel, Steering column switch......................................... 2

Circlip 40

9045DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 152 013 00
Part Number(s):

noneCorrosion Protection:

403-15 Steering gear, Repair material................................................................................ 2

Circlip, steering column

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

113 415 531
Part Number(s):

Corrosion Protection:

403-10 Steering shaft, Steering wheel, Steering column switch......................................... 1

Page 11



Porsche 914
Common Hardware Reference

Clevis G6x24 (fork head) continued:

Clevis G6x24 (fork head)

71752DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 166 002 02
900 166 002 01

Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1

Contact spring

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

999 652 456 22
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 8

Cotter pin 1,5x10

94DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 021 002 02
Part Number(s):

zinc platingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2

Cotter pin 2x15

94DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 021 008 00
900 021 008 0A

Part Number(s):

noneCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Page 12



Porsche 914
Common Hardware Reference

Cotter pin 2x25 continued:

Cotter pin 2x25
Split pin

94DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 021 013 00
Part Number(s):

noneCorrosion Protection:

403-00 Steering gear, Steering linkage...............................................................................2

Cotter pin 3x15
Split pin 3x15

94DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 012 530 1
900 021 014 00

Part Number(s):

noneCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Cotter pin 3x20

94DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 021 015 00
Part Number(s):

noneCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Counters. head tapp. screw 2,9x13
Countersunk sheet-metal screw

7982
2.9

13DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 18

Grade:

900 144 009 00
Part Number(s):

stainless steelCorrosion Protection:

Page 13



Porsche 914
Common Hardware Reference

Counters. head tapp. screw 2,9x13
continued:804-00 Door, with installation parts................................................................................... 18

Counters. head tapp. screw 4,2x13

7982 13DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 144 014 02
Part Number(s):

zinc platingCorrosion Protection:

804-10 Door glass frame..................................................................................................... 2

Counters. head tapp. screw
B4,2x19

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 014 095 1
Part Number(s):

Corrosion Protection:

809-05 Interior mirror, Glove compartment, Sun visor........................................................ 4

Countersunk-head screw 6x12
Countersunk screw AM6x12

63
6

12DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

900 013 037 02
Part Number(s):

zinc platingCorrosion Protection:

603-00 Disc brake, Rear..................................................................................................... 4

Countersunk-head screw AM4x8

7987
4

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

4.8Grade:

N 033 165 1
900 147 017 02

Part Number(s):

zinc platingCorrosion Protection:

805-00 window glazing........................................................................................................ 4

Page 14



Porsche 914
Common Hardware Reference

Countersunk-head screw AM4x8
continued:811-00 Roof.........................................................................................................................2

Countersunk-head screw AM5x12

7987
5

12DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

4.8Grade:

900 147 004 02
Part Number(s):

zinc platingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2
811-00 Roof.........................................................................................................................4

Countersunk-head screw AM5x8

7987
5

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 014 263 3
Part Number(s):

zinc platingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2

Eccentric bolt 6H11x16x12
Bolt 6h 11x16x12 DIN 1435 St 50

1435DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 088 014 02
Part Number(s):

zinc platingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2

Half-round screw AM4x8

7986
4

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

900 189 011 02
Part Number(s):

zinc platingCorrosion Protection:

Page 15



Porsche 914
Common Hardware Reference

Half-round screw AM4x8 continued:
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 8

Hexagon nut
Nut, hex. - Pressure regulator

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

311 133 307
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 1

Hexagon nut 8x20

8
20DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 016 060 1
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 1

Hexagon nut BM5

5
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

N 011 115 1
Part Number(s):

Corrosion Protection:

902-05 Generator, Single parts........................................................................................... 3

Hexagon nut BM6

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 011 116 1
Part Number(s):

Corrosion Protection:

902-05 Generator, Single parts........................................................................................... 4

Page 16



Porsche 914
Common Hardware Reference

Hexagon nut BM8 continued:

Hexagon nut BM8

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 011 118 14
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 1

Hexagon nut M10

70615
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

900 157 002 02
900 157 002 03

Part Number(s):

zinc platingCorrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2
901-00 Regulator, Generator, Starter..................................................................................2
905-00 Headlamp................................................................................................................ 2

Hexagon nut M10 (Flat with small
width across flat)

70616
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 158 003 02
Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Page 17



Porsche 914
Common Hardware Reference

Hexagon nut M14x1,5 continued:

Hexagon nut M14x1,5

963
14

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

900 078 005 01
Part Number(s):

phosphatingCorrosion Protection:

105-00 Air cooling............................................................................................................... 1
402-00 Shock absorber strut, Lubricants............................................................................ 2
501-00 Rear axle................................................................................................................. 6
902-05 Generator, Single parts........................................................................................... 1

Hexagon nut M14x1,5 (thin)

80705
14

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 183 002 02
Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1

Hexagon nut M18x1,5

936
18

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 5

8.8Grade:

900 078 007 02
Part Number(s):

zinc platingCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 1
403-07 Steering shaft, Steering wheel, Steering column switch......................................... 1
403-10 Steering shaft, Steering wheel, Steering column switch......................................... 1
502-00 Vibration damper, Stabiliser.................................................................................... 2

Page 18



Porsche 914
Common Hardware Reference

Hexagon nut M4 continued:

Hexagon nut M4
Nut, hex., M4 galvanized

934
4

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 011 004 6
N 011 004 G
900 076 003 02

Part Number(s):

zinc platingCorrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 4

Hexagon nut M5
M5 links DIN 934-8 verz. (left-hand
thread?)

934
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 7

Grade:

900 076 029 02
Part Number(s):

zinc platingCorrosion Protection:

202-10 Emission control...................................................................................................... 1
810-00 Decorative fittings....................................................................................................2
813-00 Ventilation, Heating................................................................................................. 4

Hexagon nut M6

985
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

Grade:

900 084 024 02
Part Number(s):

chrome platingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2
905-05 Lights.....................................................................................................................10

Page 19



Porsche 914
Common Hardware Reference

Hexagon nut M6 UNI-STOP U 13.6
continued:

Hexagon nut M6 UNI-STOP U 13.6

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

13.6Grade:

999 084 028 02
Part Number(s):

zinc platingCorrosion Protection:

701-00 Transmission control............................................................................................... 2

Hexagon nut M7 (nylon insert)

982
7

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 021 193 1
900 276 015 02

Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1

Hexagon nut M8

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 71

Grade:

N 011 151 2
Part Number(s):

Corrosion Protection:

117-15 Injection system...................................................................................................... 1
118-00 Exhaust gas recirculation, Air injection................................................................... 1
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 5
202-15 Exhaust system, Heat exchanger........................................................................... 6
401-00 Front axle, Stabiliser............................................................................................... 8
403-00 Steering gear, Steering linkage...............................................................................4
602-00 Disc brake, Front................................................................................................... 10
604-05 Brake lines.............................................................................................................. 2
701-00 Transmission control............................................................................................... 3
701-05 Transmission control............................................................................................... 1
702-00 Pedals, for cars with, Manual transmission.............................................................2
702-05 Pedals..................................................................................................................... 2
802-00 Bumper, Front and rear........................................................................................... 8
803-05 Lid, Rear..................................................................................................................1

Page 20



Porsche 914
Common Hardware Reference

Hexagon nut M8 continued:
803-10 Lid, Rear..................................................................................................................4
901-00 Regulator, Generator, Starter..................................................................................2
901-10 Engine electrics....................................................................................................... 3
902-00 Battery, Fuse box.................................................................................................... 1
902-10 Wiring harnesses.................................................................................................... 2
902-15 Wiring harnesses.................................................................................................... 2
903-05 Switch, Relay, Horn.................................................................................................1
905-00 Headlamp................................................................................................................ 2

Hexagon nut M8 (low profile)

936
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 078 016 02
N 011 151 3

Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Hexagon nut M8 (N01-100-88)
Nut, hex, M8 galvanized

934
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 25

Grade:

N 011 008 8
900 076 026 01

Part Number(s):

zinc platingCorrosion Protection:

117-05 Intake connection, Intake pipe, Control shaft.......................................................... 1
117-10 Injection system...................................................................................................... 7
118-00 Exhaust gas recirculation, Air injection................................................................... 2
119-00 Engine carrier.......................................................................................................... 2
602-00 Disc brake, Front................................................................................................... 12
901-15 Engine electrics....................................................................................................... 1

Hexagon nut M8 (nylon insert)

982
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

113 415 431 A
900 276 004 02

Part Number(s):

zinc platingCorrosion Protection:

Page 21



Porsche 914
Common Hardware Reference

Hexagon nut M8 (nylon insert) continued:
403-00 Steering gear, Steering linkage...............................................................................4

Hexagon nut M8 Self-locking

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

311 101 463
Part Number(s):

Corrosion Protection:

119-00 Engine carrier.......................................................................................................... 2
202-05 Exhaust system, Exhaust silencer.......................................................................... 4

Hexagon socket head bolt M5x15

5
15DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

N 014 741 1
Part Number(s):

Corrosion Protection:

201-05 Fuel tank................................................................................................................. 8

Hexagon-head bolt (Engine Mount
914-6)914 6 Engine Mount Bolt 12x135

960
12

135DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 082 043 02
914 375 267 00

Part Number(s):

zinc platingCorrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 1

Hexagon-head bolt B2,9x16

16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 043 931 1
Part Number(s):

Corrosion Protection:

Page 22



Porsche 914
Common Hardware Reference

Hexagon-head bolt B2,9x16 continued:
905-05 Lights.......................................................................................................................2

Hexagon-head bolt B8x15

933
8

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 075 104 01
Part Number(s):

Corrosion Protection:

301-00 Clutch...................................................................................................................... 6

Hexagon-head bolt BM6x30

6
30DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 010 346 5
Part Number(s):

Corrosion Protection:

115-00 Air cooling............................................................................................................... 1

Hexagon-head bolt BM8x95

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 010 390 1
Part Number(s):

Corrosion Protection:

118-00 Exhaust gas recirculation, Air injection................................................................... 1

Hexagon-head bolt M10x115

931
10

115DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 010 500 3
Part Number(s):

Corrosion Protection:

901-00 Regulator, Generator, Starter..................................................................................2

Page 23



Porsche 914
Common Hardware Reference

Hexagon-head bolt M10x15 continued:

Hexagon-head bolt M10x15

933
10

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 075 035 02
Part Number(s):

zinc platingCorrosion Protection:

998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 2

Hexagon-head bolt M10x18

933
10

18DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

Grade:

N 010 251 2
Part Number(s):

Corrosion Protection:

802-05 Bumper, Front......................................................................................................... 6
802-10 Bumper, Rear.......................................................................................................... 6

Hexagon-head bolt M10x20

933
10

20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 075 040 02
900 075 517 01

Part Number(s):

zinc platingCorrosion Protection:

401-00 Front axle, Stabiliser............................................................................................... 2

Hexagon-head bolt M10x22

933
10

22DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

N 010 253 7
900 075 054 02

Part Number(s):

zinc platingCorrosion Protection:

403-00 Steering gear, Steering linkage...............................................................................2

Page 24



Porsche 914
Common Hardware Reference

Hexagon-head bolt M10x25 continued:

Hexagon-head bolt M10x25

933
10

25DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 075 041 02
Part Number(s):

zinc platingCorrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2

Hexagon-head bolt M10x30

933
10

30DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

900 075 042 02
900 075 043 02

Part Number(s):

zinc platingCorrosion Protection:

401-00 Front axle, Stabiliser............................................................................................... 4

Hexagon-head bolt M10x32
(Muffler to Heat Exchanger)

933
10

32DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 075 148 02
900 075 147 02

Part Number(s):

zinc platingCorrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2

Hexagon-head bolt M10x35

933
10

35DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 010 275 4
Part Number(s):

Corrosion Protection:

403-00 Steering gear, Steering linkage...............................................................................2

Page 25



Porsche 914
Common Hardware Reference

Hexagon-head bolt M10x40 continued:

Hexagon-head bolt M10x40

931
10

40DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 074 059 02
900 074 379 01

Part Number(s):

zinc platingCorrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2

Hexagon-head bolt M10x55

931
10

55DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

10.9Grade:

900 074 192 01
Part Number(s):

Bostik phosphatingCorrosion Protection:

501-00 Rear axle................................................................................................................. 6

Hexagon-head bolt M10x70

931
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 074 138 01
Part Number(s):

phosphatingCorrosion Protection:

119-00 Engine carrier.......................................................................................................... 2

Hexagon-head bolt M10x85

10
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 010 472 4
Part Number(s):

Corrosion Protection:

119-00 Engine carrier.......................................................................................................... 2

Page 26



Porsche 914
Common Hardware Reference

Hexagon-head bolt M10x90 continued:

Hexagon-head bolt M10x90

10
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 014 736 1
Part Number(s):

Corrosion Protection:

119-00 Engine carrier.......................................................................................................... 2

Hexagon-head bolt M12x1,5x30

960
12

30DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

8.8Grade:

N 010 127 4
N 010 127 1
900 082 006 01

Part Number(s):

phosphatingCorrosion Protection:

602-00 Disc brake, Front..................................................................................................... 4
603-00 Disc brake, Rear..................................................................................................... 4
698-00 Repair kits............................................................................................................... 4

Hexagon-head bolt M12x1,5x55

12
55DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 010 154 4
Part Number(s):

Corrosion Protection:

802-05 Bumper, Front......................................................................................................... 2
802-10 Bumper, Rear.......................................................................................................... 2

Page 27



Porsche 914
Common Hardware Reference

Hexagon-head bolt M12x1,5x80
continued:

Hexagon-head bolt M12x1,5x80

960
12

80DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 082 020 02
Part Number(s):

zinc platingCorrosion Protection:

401-00 Front axle, Stabiliser............................................................................................... 2

Hexagon-head bolt M4x8

933
4

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 075 116 02
Part Number(s):

zinc platingCorrosion Protection:

115-10 Cooling air control................................................................................................... 1

Hexagon-head bolt M5x10

933
5

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

8.8Grade:

N 010 205 6
900 075 105 02
N 010 205 2

Part Number(s):

zinc platingCorrosion Protection:

117-10 Injection system...................................................................................................... 1
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 2
702-00 Pedals, for cars with, Manual transmission.............................................................1
804-05 Door, with installation parts..................................................................................... 2
813-00 Ventilation, Heating................................................................................................. 2
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 1

Page 28



Porsche 914
Common Hardware Reference

Hexagon-head bolt M5x12 continued:

Hexagon-head bolt M5x12

933
5

12DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 25

8.8Grade:

N 010 207 6
N 010 207 17
900 075 091 02

Part Number(s):

zinc platingCorrosion Protection:

201-00 Fuel tank................................................................................................................. 8
801-05 Frame, Front........................................................................................................... 6
810-00 Decorative fittings....................................................................................................6
903-05 Switch, Relay, Horn.................................................................................................5

Hexagon-head bolt M5x18

5
18DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

N 010 296 2
Part Number(s):

Corrosion Protection:

201-05 Fuel tank................................................................................................................. 8

Hexagon-head bolt M5x20
M5x22 is incorrect for this part
number.

933
5

20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 16

8.8Grade:

N 010 264 4
900 075 154 02

Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 6
802-05 Bumper, Front......................................................................................................... 4
802-10 Bumper, Rear.......................................................................................................... 2
810-00 Decorative fittings....................................................................................................4

Page 29



Porsche 914
Common Hardware Reference

Hexagon-head bolt M6x(?) continued:

Hexagon-head bolt M6x(?)

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

111 129 635
Part Number(s):

Corrosion Protection:

116-00 Air cleaner............................................................................................................... 1
116-05 Air cleaner............................................................................................................... 1
202-15 Exhaust system, Heat exchanger........................................................................... 2

Hexagon-head bolt M6x10K
aka Hexagon-head bolt M6x10

993
6

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 20

8.8Grade:

N 010 210 13
900 075 009 02

Part Number(s):

zinc platingCorrosion Protection:

116-05 Air cleaner............................................................................................................... 3
118-00 Exhaust gas recirculation, Air injection................................................................... 2
202-15 Exhaust system, Heat exchanger........................................................................... 4
701-00 Transmission control............................................................................................... 2
901-05 Electrical equipment, Engine...................................................................................7
901-15 Engine electrics....................................................................................................... 2

Hexagon-head bolt M6x12
Mislabelled "Hexagon nut" or
M6x15

933
6

12DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 77

8.8Grade:

900 075 010 02
N 010 212 14
999 072 005 09
999 072 005 01

Part Number(s):

zinc platingCorrosion Protection:

105-05 Air guide................................................................................................................ 18
105-10 Engine cover, Air guide......................................................................................... 22
115-00 Air cooling............................................................................................................... 1
117-15 Injection system...................................................................................................... 1
201-00 Fuel tank................................................................................................................. 3
201-05 Fuel tank................................................................................................................. 1
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 2

Page 30



Porsche 914
Common Hardware Reference

Hexagon-head bolt M6x12 continued:
803-10 Lid, Rear..................................................................................................................4
804-00 Door, with installation parts..................................................................................... 8
804-10 Door glass frame..................................................................................................... 6
811-00 Roof.........................................................................................................................4
813-05 Ventilation, Heating................................................................................................. 2
904-00 Windscreen wiper system....................................................................................... 2
904-05 Windscreen wiper system....................................................................................... 1
905-05 Lights.......................................................................................................................2

Hexagon-head bolt M6x15

933
6

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 25

8.8Grade:

N 010 215 13
900 075 012 02

Part Number(s):

zinc platingCorrosion Protection:

117-05 Intake connection, Intake pipe, Control shaft.......................................................... 4
201-00 Fuel tank................................................................................................................. 1
803-00 Lid, Front................................................................................................................. 2
803-10 Lid, Rear..................................................................................................................4
808-00 Seat......................................................................................................................... 8
901-15 Engine electrics....................................................................................................... 2
904-10 Windscreen wiper system....................................................................................... 1
904-15 Windscreen wiper system....................................................................................... 1
904-20 Headlight washer system........................................................................................ 2

Hexagon-head bolt M6x16

933
6

16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 23

8.8Grade:

900 075 057 02
900 075 057 03

Part Number(s):

zinc platingCorrosion Protection:

201-05 Fuel tank................................................................................................................. 1
702-00 Pedals, for cars with, Manual transmission.............................................................3
702-05 Pedals..................................................................................................................... 2
803-00 Lid, Front................................................................................................................. 2
803-05 Lid, Rear..................................................................................................................2
803-10 Lid, Rear..................................................................................................................4
808-00 Seat......................................................................................................................... 8
809-00 Dashboard, Door mirror.......................................................................................... 1

Page 31



Porsche 914
Common Hardware Reference

Hexagon-head bolt M6x18 continued:

Hexagon-head bolt M6x18

6
18DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 16

Grade:

N 010 216 7
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 2
118-00 Exhaust gas recirculation, Air injection................................................................... 3
202-05 Exhaust system, Exhaust silencer.......................................................................... 3
901-05 Electrical equipment, Engine...................................................................................2

Hexagon-head bolt M6x20

6
20DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 36

Grade:

900 378 030 09
Part Number(s):

Corrosion Protection:

813-00 Ventilation, Heating............................................................................................... 36

Hexagon-head bolt M6x30

931
6

30DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

900 074 015 02
900 074 015 03

Part Number(s):

zinc platingCorrosion Protection:

803-05 Lid, Rear..................................................................................................................2
813-05 Ventilation, Heating................................................................................................. 2

Page 32



Porsche 914
Common Hardware Reference

Hexagon-head bolt M6x35 continued:

Hexagon-head bolt M6x35

931
6

35DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

N 010 347 5
900 074 010 02

Part Number(s):

zinc platingCorrosion Protection:

803-10 Lid, Rear..................................................................................................................2

Hexagon-head bolt M6x38

931
6

38DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 074 151 02
Part Number(s):

zinc platingCorrosion Protection:

701-00 Transmission control............................................................................................... 2

Hexagon-head bolt M6x8

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 17

Grade:

N 010 208 5
Part Number(s):

Corrosion Protection:

105-10 Engine cover, Air guide........................................................................................... 1
804-05 Door, with installation parts................................................................................... 16

Hexagon-head bolt M6x95

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 010 354 2
Part Number(s):

Corrosion Protection:

118-00 Exhaust gas recirculation, Air injection................................................................... 2

Page 33



Porsche 914
Common Hardware Reference

Hexagon-head bolt M8x10 continued:

Hexagon-head bolt M8x10

933
8

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

8.8Grade:

N 010 235 3
900 075 094 02

Part Number(s):

zinc platingCorrosion Protection:

602-00 Disc brake, Front..................................................................................................... 6
603-00 Disc brake, Rear..................................................................................................... 6

Hexagon-head bolt M8x12

933
8

12DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

8.8Grade:

N 010 237 6
N 010 237 14

Part Number(s):

zinc platingCorrosion Protection:

602-00 Disc brake, Front..................................................................................................... 6

Hexagon-head bolt M8x15

933
8

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 32

8.8Grade:

900 075 078 02
900 075 078 03

Part Number(s):

zinc platingCorrosion Protection:

115-10 Cooling air control................................................................................................... 1
301-05 Clutch...................................................................................................................... 6
501-00 Rear axle................................................................................................................. 8
604-05 Brake lines.............................................................................................................. 2
701-00 Transmission control............................................................................................... 3
701-05 Transmission control............................................................................................... 3
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1
802-05 Bumper, Front......................................................................................................... 4
804-10 Door glass frame..................................................................................................... 2
903-05 Switch, Relay, Horn.................................................................................................2

Page 34



Porsche 914
Common Hardware Reference

Hexagon-head bolt M8x16 continued:

Hexagon-head bolt M8x16

933
8

16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 075 087 02
900 075 087 03

Part Number(s):

Corrosion Protection:

502-00 Vibration damper, Stabiliser.................................................................................... 4

Hexagon-head bolt M8x18

933
8

18DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 14

8.8Grade:

N 010 239 11
N 010 239 30
900 075 084 02

Part Number(s):

gal Zn 8cCorrosion Protection:

202-15 Exhaust system, Heat exchanger........................................................................... 2
301-05 Clutch...................................................................................................................... 6
403-15 Steering gear, Repair material................................................................................ 2
803-10 Lid, Rear..................................................................................................................4

Hexagon-head bolt M8x20

933
8

20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 16

8.8Grade:

900 075 085 02
N 010 240 4

Part Number(s):

zinc platingCorrosion Protection:

119-00 Engine carrier.......................................................................................................... 4
202-05 Exhaust system, Exhaust silencer.......................................................................... 1
403-05 Steering shaft, Steering wheel, Steering column switch......................................... 4
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1
902-05 Generator, Single parts........................................................................................... 2

Page 35



Porsche 914
Common Hardware Reference

Hexagon-head bolt M8x22 continued:

Hexagon-head bolt M8x22

933
8

22DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

8.8Grade:

900 075 079 02
N 010 241 3

Part Number(s):

zinc platingCorrosion Protection:

202-05 Exhaust system, Exhaust silencer.......................................................................... 1
602-00 Disc brake, Front................................................................................................... 10
701-05 Transmission control............................................................................................... 1

Hexagon-head bolt M8x25

933
8

25DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 15

Grade:

900 075 083 02
Part Number(s):

zinc platingCorrosion Protection:

116-05 Air cleaner............................................................................................................... 1
117-10 Injection system...................................................................................................... 2
202-15 Exhaust system, Heat exchanger........................................................................... 6
401-00 Front axle, Stabiliser............................................................................................... 6

Hexagon-head bolt M8x28

933
8

28DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 13

Grade:

N 010 233 6
900 075 136 03

Part Number(s):

Corrosion Protection:

118-00 Exhaust gas recirculation, Air injection................................................................... 1
202-05 Exhaust system, Exhaust silencer........................................................................ 12

Page 36



Porsche 914
Common Hardware Reference

Hexagon-head bolt M8x30 continued:

Hexagon-head bolt M8x30

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 7

Grade:

N 010 244 11
N 010 244 25

Part Number(s):

Corrosion Protection:

115-00 Air cooling............................................................................................................... 3
403-00 Steering gear, Steering linkage...............................................................................4

Hexagon-head bolt M8x32

931
8

32DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

8.8Grade:

N 040 222 2
900 074 140 02

Part Number(s):

zinc platingCorrosion Protection:

701-00 Transmission control............................................................................................... 1

Hexagon-head bolt M8x35

931
8

35DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 15

8.8Grade:

N 010 247 8
900 074 128 02

Part Number(s):

zinc platingCorrosion Protection:

202-05 Exhaust system, Exhaust silencer.......................................................................... 4
202-15 Exhaust system, Heat exchanger........................................................................... 6
403-00 Steering gear, Steering linkage...............................................................................4
701-05 Transmission control............................................................................................... 1

Page 37



Porsche 914
Common Hardware Reference

Hexagon-head bolt M8x35 (battery
holddown) continued:

Hexagon-head bolt M8x35 (battery
holddown)

8
35DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 010 247 7
N 010 247 18

Part Number(s):

Corrosion Protection:

902-00 Battery, Fuse box.................................................................................................... 1

Hexagon-head bolt M8x40

931
8

40DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

8.8Grade:

N 010 340 6
Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 8
802-05 Bumper, Front......................................................................................................... 4

Hexagon-head bolt M8x42

931
8

42DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

900 074 129 02
Part Number(s):

zinc platingCorrosion Protection:

403-00 Steering gear, Steering linkage...............................................................................4

Hexagon-head bolt M8x45

8
45DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 5

Grade:

N 010 246 4
Part Number(s):

Corrosion Protection:

115-00 Air cooling............................................................................................................... 3

Page 38



Porsche 914
Common Hardware Reference

Hexagon-head bolt M8x45 continued:
905-00 Headlamp................................................................................................................ 2

Hexagon-head bolt M8x52

8
52DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 010 351 2
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 1
117-10 Injection system...................................................................................................... 1

Hexagon-head bolt M8x62

931
8

62DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 010 377 1
N 010 377 6
900 074 135 02

Part Number(s):

zinc platingCorrosion Protection:

401-00 Front axle, Stabiliser............................................................................................... 4

Hexagon-head bolt M8x8

933
8

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

8.8Grade:

N 010 231 1
900 075 086 02

Part Number(s):

zinc platingCorrosion Protection:

401-00 Front axle, Stabiliser............................................................................................... 2
403-15 Steering gear, Repair material................................................................................ 1

Page 39



Porsche 914
Common Hardware Reference

Hexagon-head bolt with Sealing ring
M4x8 continued:

Hexagon-head bolt with Sealing
ring M4x8

8
8DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 090 196 1
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 1

Hexagon-head tapping screw
B4,2x13

7976 13DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

N 013 884 5
Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 4
802-10 Bumper, Rear.......................................................................................................... 4

Hexagon-head tapping screw
B4,8x16

7976 16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 187 018 02
Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 2
802-05 Bumper, Front......................................................................................................... 4

Hexagon-head tapping screw
B5,5x16

7976 16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 187 023 02
Part Number(s):

zinc platingCorrosion Protection:

Page 40



Porsche 914
Common Hardware Reference

Hexagon-head tapping screw B5,5x16
continued:701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1

Hexagon-head tapping screw
B6,3x16

7976 16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 187 015 02
Part Number(s):

zinc platingCorrosion Protection:

105-05 Air guide.................................................................................................................. 4

Hexagon-head tapping screw
BZ4,2x19Tapping screw, hexagon head

7976 19DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 187 017 02
Part Number(s):

zinc platingCorrosion Protection:

801-20 Exterior panelling.................................................................................................... 4
902-00 Battery, Fuse box......................................................................................................

Hexagon-head tapping screw
BZ4,8x19

7976 19DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 187 024 02
Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 2

Hexagon-head tapping screw
M5,5x19

5.5
19DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 013 888 2
Part Number(s):

Corrosion Protection:

Page 41



Porsche 914
Common Hardware Reference

Hexagon-head tapping screw M5,5x19
continued:802-05 Bumper, Front......................................................................................................... 4

Hollow washer

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 5

Grade:

999 591 011 12
Part Number(s):

chrome platingCorrosion Protection:

808-00 Seat......................................................................................................................... 5

Insulating piece
Insulating washer - Pressure
regulator

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

311 133 309
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 1

Lock nut M5

5
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 021 196 1
N 021 196 3

Part Number(s):

Corrosion Protection:

998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 1

Lock nut M6

985
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

900 084 010 02
Part Number(s):

zinc platingCorrosion Protection:

803-10 Lid, Rear..................................................................................................................3

Page 42



Porsche 914
Common Hardware Reference

Lock nut M8 continued:

Lock nut M8

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

Grade:

900 910 022 09
900 910 022 03

Part Number(s):

Corrosion Protection:

119-00 Engine carrier.......................................................................................................... 4
802-05 Bumper, Front......................................................................................................... 4
802-10 Bumper, Rear.......................................................................................................... 4

Lock ring 10

7980
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 14

Grade:

N 012 028 1
N 015 375 1
900 142 005 01
999 523 103 01

Part Number(s):

phosphatingCorrosion Protection:

401-00 Front axle, Stabiliser............................................................................................... 2
402-00 Shock absorber strut, Lubricants............................................................................ 6
501-00 Rear axle................................................................................................................. 6

Lock ring A5
Spring ring

127
5

5.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 027 003 01
Part Number(s):

Bostik phosphatingCorrosion Protection:

803-00 Lid, Front................................................................................................................. 2
810-00 Decorative fittings....................................................................................................2

Page 43



Porsche 914
Common Hardware Reference

Lock ring A6 continued:

Lock ring A6

127
6

6.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 17

Grade:

N 012 007 2
900 027 004 03
900 027 004 01

Part Number(s):

Bostik phosphatingCorrosion Protection:

803-00 Lid, Front................................................................................................................. 3
803-05 Lid, Rear..................................................................................................................2
803-10 Lid, Rear..................................................................................................................4
804-10 Door glass frame..................................................................................................... 2
905-00 Headlamp................................................................................................................ 6

Lock ring A8
Spring ring

127
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 17

Grade:

900 027 005 01
Part Number(s):

phosphatingCorrosion Protection:

118-00 Exhaust gas recirculation, Air injection................................................................... 3
403-05 Steering shaft, Steering wheel, Steering column switch......................................... 4
403-07 Steering shaft, Steering wheel, Steering column switch......................................... 4
403-10 Steering shaft, Steering wheel, Steering column switch......................................... 4
604-05 Brake lines.............................................................................................................. 2

Lock ring B10

137
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 26

Grade:

900 027 016 02
900 027 016 03
900 027 016 01

Part Number(s):

zinc platingCorrosion Protection:

119-00 Engine carrier.......................................................................................................... 2
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2
401-00 Front axle, Stabiliser............................................................................................... 6
403-00 Steering gear, Steering linkage...............................................................................2
802-05 Bumper, Front......................................................................................................... 6
802-10 Bumper, Rear.......................................................................................................... 6

Page 44



Porsche 914
Common Hardware Reference

Lock ring B10 continued:
905-00 Headlamp................................................................................................................ 2

Lock ring B12
Spring washer

137
12

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 15

Grade:

900 028 014 01
Part Number(s):

Bostik phosphatingCorrosion Protection:

202-10 Emission control...................................................................................................... 1
401-00 Front axle, Stabiliser............................................................................................... 2
602-00 Disc brake, Front..................................................................................................... 4
603-00 Disc brake, Rear..................................................................................................... 4
802-05 Bumper, Front......................................................................................................... 2
802-10 Bumper, Rear.......................................................................................................... 2

Lock ring B12 (plated/coated)

137
12

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 028 014 02
900 028 014 03

Part Number(s):

zinc platingCorrosion Protection:

812-00 Seat belt.................................................................................................................. 2

Lock ring B18
Spring ring

127
18

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 027 018 01
Part Number(s):

phosphatingCorrosion Protection:

502-00 Vibration damper, Stabiliser.................................................................................... 2

Page 45



Porsche 914
Common Hardware Reference

Lock ring B4 continued:

Lock ring B4

4
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 012 004 2
Part Number(s):

Corrosion Protection:

901-15 Engine electrics....................................................................................................... 2

Lock ring B5
Spring ring

127
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 31

Grade:

N 012 005 3
900 027 012 01

Part Number(s):

Bostik phosphatingCorrosion Protection:

801-05 Frame, Front........................................................................................................... 6
802-00 Bumper, Front and rear........................................................................................... 2
802-05 Bumper, Front......................................................................................................... 2
810-00 Decorative fittings..................................................................................................10
813-00 Ventilation, Heating................................................................................................. 4
901-05 Electrical equipment, Engine...................................................................................4
902-05 Generator, Single parts........................................................................................... 1
903-20 Steering column switch........................................................................................... 2

Lock ring B6
Spring washer

137
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 97

Grade:

900 028 008 01
Part Number(s):

phosphatingCorrosion Protection:

105-00 Air cooling............................................................................................................... 1
117-15 Injection system...................................................................................................... 1
118-00 Exhaust gas recirculation, Air injection................................................................... 1
201-00 Fuel tank................................................................................................................. 5
201-05 Fuel tank................................................................................................................. 4
201-10 Fuel line...................................................................................................................4
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 3

Page 46



Porsche 914
Common Hardware Reference

Lock ring B6 continued:
202-15 Exhaust system, Heat exchanger........................................................................... 3
301-10 Clutch release......................................................................................................... 3
701-00 Transmission control............................................................................................... 2
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1
702-00 Pedals, for cars with, Manual transmission.............................................................1
802-00 Bumper, Front and rear........................................................................................... 2
802-05 Bumper, Front......................................................................................................... 2
803-00 Lid, Front................................................................................................................. 2
803-05 Lid, Rear..................................................................................................................2
803-10 Lid, Rear..................................................................................................................8
804-00 Door, with installation parts................................................................................... 22
804-10 Door glass frame..................................................................................................... 6
811-00 Roof.........................................................................................................................4
813-00 Ventilation, Heating................................................................................................. 1
901-05 Electrical equipment, Engine.................................................................................11
902-05 Generator, Single parts........................................................................................... 2
904-00 Windscreen wiper system....................................................................................... 1
904-05 Windscreen wiper system....................................................................................... 1
904-20 Headlight washer system........................................................................................ 2

Lock ring B8

127
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 85

Grade:

900 027 015 02
900 027 015 03
N 012 008 2
900 027 015 01

Part Number(s):

zinc platingCorrosion Protection:

202-05 Exhaust system, Exhaust silencer.......................................................................... 2
301-00 Clutch...................................................................................................................... 6
301-05 Clutch...................................................................................................................... 6
401-00 Front axle, Stabiliser............................................................................................. 14
403-00 Steering gear, Steering linkage...............................................................................2
501-00 Rear axle................................................................................................................. 8
502-00 Vibration damper, Stabiliser.................................................................................... 4
701-00 Transmission control............................................................................................... 5
701-05 Transmission control............................................................................................... 4
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 2
702-00 Pedals, for cars with, Manual transmission.............................................................3
702-05 Pedals..................................................................................................................... 3
802-05 Bumper, Front......................................................................................................... 4
803-10 Lid, Rear..................................................................................................................8
804-00 Door, with installation parts..................................................................................... 6
901-00 Regulator, Generator, Starter..................................................................................2
902-00 Battery, Fuse box.................................................................................................... 1
903-05 Switch, Relay, Horn.................................................................................................1

Page 47



Porsche 914
Common Hardware Reference

Lock washer 4 continued:

Lock washer 4

6799
4

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 116 003 02
Part Number(s):

zinc platingCorrosion Protection:

202-15 Exhaust system, Heat exchanger........................................................................... 2

Lock washer 5
Lock washer 5 DIN 6799

6799
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

Grade:

N 012 435 1
900 116 004 01

Part Number(s):

phosphatingCorrosion Protection:

701-00 Transmission control............................................................................................... 4
701-05 Transmission control............................................................................................... 5

Lock washer 8

6799
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 116 007 01
N 012 439 1
N 012 439 2

Part Number(s):

phosphatingCorrosion Protection:

905-00 Headlamp................................................................................................................ 2

Lock washer J6,4

6
6.4DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 012 106 1
Part Number(s):

Corrosion Protection:

902-05 Generator, Single parts........................................................................................... 1

Page 48



Porsche 914
Common Hardware Reference

Nut M10 (nylon insert) continued:

Nut M10 (nylon insert)

982
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

N 021 195 1
900 276 006 02

Part Number(s):

gal Zn 8cCorrosion Protection:

119-00 Engine carrier.......................................................................................................... 2
403-15 Steering gear, Repair material................................................................................ 1

Nut M5

934
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 30

8.8Grade:

900 076 027 02
Part Number(s):

zinc platingCorrosion Protection:

202-10 Emission control...................................................................................................... 1
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1
702-00 Pedals, for cars with, Manual transmission.............................................................4
702-05 Pedals..................................................................................................................... 4
802-00 Bumper, Front and rear........................................................................................... 4
802-05 Bumper, Front......................................................................................................... 2
802-10 Bumper, Rear.......................................................................................................... 2
809-05 Interior mirror, Glove compartment, Sun visor........................................................ 1
810-00 Decorative fittings..................................................................................................10
904-20 Headlight washer system........................................................................................ 1

Nut M6

934
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 73

8.8Grade:

900 076 010 02
900 076 010 0B

Part Number(s):

zinc platingCorrosion Protection:

105-00 Air cooling............................................................................................................... 6
115-10 Cooling air control................................................................................................... 2
116-00 Air cleaner............................................................................................................... 1
116-05 Air cleaner............................................................................................................... 2

Page 49



Porsche 914
Common Hardware Reference

Nut M6 continued:
117-10 Injection system...................................................................................................... 4
118-00 Exhaust gas recirculation, Air injection................................................................... 2
201-00 Fuel tank................................................................................................................. 1
201-05 Fuel tank................................................................................................................. 2
201-10 Fuel line...................................................................................................................4
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 1
202-15 Exhaust system, Heat exchanger........................................................................... 2
301-10 Clutch release......................................................................................................... 2
702-00 Pedals, for cars with, Manual transmission.............................................................3
702-05 Pedals..................................................................................................................... 1
802-00 Bumper, Front and rear......................................................................................... 12
802-05 Bumper, Front......................................................................................................... 2
803-05 Lid, Rear..................................................................................................................2
803-10 Lid, Rear..................................................................................................................8
809-00 Dashboard, Door mirror.......................................................................................... 4
901-05 Electrical equipment, Engine...................................................................................3
902-00 Battery, Fuse box.................................................................................................... 2
904-00 Windscreen wiper system....................................................................................... 1
904-05 Windscreen wiper system....................................................................................... 2
904-20 Headlight washer system........................................................................................ 2
905-05 Lights.......................................................................................................................2

Oval-head screw AM 6x10

6
10DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

N 014 138 7
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 2
118-00 Exhaust gas recirculation, Air injection................................................................... 2
901-05 Electrical equipment, Engine...................................................................................2

Oval-head screw AM3x8

7985
3

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 146 021 02
Part Number(s):

zinc platingCorrosion Protection:

809-05 Interior mirror, Glove compartment, Sun visor........................................................ 2

Page 50



Porsche 914
Common Hardware Reference

Oval-head screw AM4x10 continued:

Oval-head screw AM4x10
Lenshead screw

7985
4

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 146 011 02
Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................2
702-05 Pedals..................................................................................................................... 2
905-05 Lights.......................................................................................................................2

Oval-head screw AM5x10
Oval-head screw AM5x10

7985
5

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 146 003 02
Part Number(s):

zinc platingCorrosion Protection:

902-00 Battery, Fuse box.................................................................................................... 1

Oval-head screw AM5x6

5
6DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 014 127 4
Part Number(s):

Corrosion Protection:

804-05 Door, with installation parts..................................................................................... 2

Oval-head screw AM6x10
Fillister-head screw

7985
6

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 11

4.4Grade:

900 146 044 02
900 146 014 02

Part Number(s):

zinc platingCorrosion Protection:

Page 51



Porsche 914
Common Hardware Reference

Oval-head screw AM6x10 continued:
403-05 Steering shaft, Steering wheel, Steering column switch......................................... 1
804-00 Door, with installation parts..................................................................................... 4
804-10 Door glass frame..................................................................................................... 6

Oval-head screw AM6x12

7985
6

12DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 40

Grade:

N 014 139 5
Part Number(s):

zinc platingCorrosion Protection:

115-00 Air cooling............................................................................................................... 8
115-05 Engine cover, Air guide......................................................................................... 18
116-00 Air cleaner............................................................................................................... 2
202-15 Exhaust system, Heat exchanger........................................................................... 4
801-20 Exterior panelling.................................................................................................... 6
809-05 Interior mirror, Glove compartment, Sun visor........................................................ 2

Oval-head screw AM6x15
Screw, fillister hd. AM 6 x 15 DIN
7985 galv.

7985
6

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

N 014 140 5
Part Number(s):

zinc platingCorrosion Protection:

202-15 Exhaust system, Heat exchanger........................................................................... 1
808-00 Seat......................................................................................................................... 2
809-00 Dashboard, Door mirror.......................................................................................... 5

Oval-head screw AM6x20
Lens head screw

7985
6

20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

4.8Grade:

N 014 142 3
900 146 002 02

Part Number(s):

zinc platingCorrosion Protection:

803-05 Lid, Rear..................................................................................................................2

Page 52



Porsche 914
Common Hardware Reference

Oval-head screw BM6x30 continued:

Oval-head screw BM6x30

6
30DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 014 145 3
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 2

Oval-head sheetmetal screw
3,5x19

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 15

Grade:

900 143 072 02
Part Number(s):

zinc platingCorrosion Protection:

807-05 Interior equipment, Rear....................................................................................... 15

Oval-head sheetmetal screw
AM5x10Oval-head tapping screw

7986
5

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 189 010 02
Part Number(s):

zinc platingCorrosion Protection:

902-00 Battery, Fuse box.................................................................................................... 2
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 2

Oval-head sheetmetal screw
B2,9x13

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 013 954 2
900 143 051 01

Part Number(s):

zinc platingCorrosion Protection:

811-00 Roof.........................................................................................................................2

Page 53



Porsche 914
Common Hardware Reference

Oval-head sheetmetal screw B2,9x9,5
continued:

Oval-head sheetmetal screw
B2,9x9,5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

N 013 953 2
Part Number(s):

Corrosion Protection:

811-00 Roof.........................................................................................................................8

Oval-head sheetmetal screw
B3,5x13also labeled as A3,5x19

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 30

Grade:

N 013 958 7
Part Number(s):

zinc platingCorrosion Protection:

701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 3
810-00 Decorative fittings....................................................................................................8
811-00 Roof.........................................................................................................................7
903-05 Switch, Relay, Horn...................................................................................................
905-00 Headlamp................................................................................................................ 4
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 8

Oval-head sheetmetal screw
B3,5x16

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 22

Grade:

N 014 087 5
Part Number(s):

Corrosion Protection:

807-00 Interior equipment, Front....................................................................................... 10
810-00 Decorative fittings....................................................................................................8
905-05 Lights.......................................................................................................................4

Page 54



Porsche 914
Common Hardware Reference

Oval-head sheetmetal screw B3,5x6,5
continued:

Oval-head sheetmetal screw
B3,5x6,5Topping screw, fillister hd. B 3.5 x
6. 5

7981
3.5

6.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

N 013 956 2
Part Number(s):

Corrosion Protection:

202-15 Exhaust system, Heat exchanger........................................................................... 6

Oval-head sheetmetal screw
B3,5x9,5Fillister-head tapping screw

7981 9.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 26

Grade:

N 013 957 5
900 143 050 02

Part Number(s):

zinc platingCorrosion Protection:

701-00 Transmission control............................................................................................... 1
807-00 Interior equipment, Front......................................................................................... 8
811-00 Roof.......................................................................................................................17

Oval-head sheetmetal screw
B3,9x9,5

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 143 063 02
Part Number(s):

zinc platingCorrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 2

Oval-head sheetmetal screw
B4,2x13Cheese-head tapping screw

7981 13DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 14

Grade:

900 143 007 02
900 073 507 01

Part Number(s):

zinc platingCorrosion Protection:

Page 55



Porsche 914
Common Hardware Reference

Oval-head sheetmetal screw B4,2x13
continued:604-00 Brake fluid reservoir, Brake master cylinder........................................................... 2

809-00 Dashboard, Door mirror.......................................................................................... 2
809-05 Interior mirror, Glove compartment, Sun visor........................................................ 4
902-00 Battery, Fuse box.................................................................................................... 2
905-00 Headlamp................................................................................................................ 4

Oval-head sheetmetal screw
B4,8x13

13DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 013 968 3
Part Number(s):

Corrosion Protection:

909-00 Catalytic converter, Counter switch, Indicator light................................................. 1

Oval-head sheetmetal screw
B4,8x16

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 143 046 02
900 143 046 01

Part Number(s):

zinc platingCorrosion Protection:

901-05 Electrical equipment, Engine...................................................................................2

Oval-head sheetmetal screw
B4,8x19

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 013 975 4
900 143 006 02

Part Number(s):

zinc platingCorrosion Protection:

807-05 Interior equipment, Rear......................................................................................... 1

Page 56



Porsche 914
Common Hardware Reference

Oval-head sheetmetal screw B4,8x9,5
continued:

Oval-head sheetmetal screw
B4,8x9,5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 7

Grade:

N 106 568 02
Part Number(s):

Corrosion Protection:

898-00 Number plate, Mount...............................................................................................4
903-05 Switch, Relay, Horn.................................................................................................2
909-00 Catalytic converter, Counter switch, Indicator light................................................. 1

Oval-head sheetmetal screw
B5,5x16

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

Grade:

900 143 024 02
Part Number(s):

zinc platingCorrosion Protection:

804-00 Door, with installation parts................................................................................... 12

Oval-head sheetmetal screw
B5,5x25

25DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 013 948 1
Part Number(s):

Corrosion Protection:

901-05 Electrical equipment, Engine...................................................................................2

Oval-head sheetmetal screw BZ
4,8 X 9,5

7971DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

N 013 970 5
Part Number(s):

zinc platingCorrosion Protection:

Page 57



Porsche 914
Common Hardware Reference

Oval-head sheetmetal screw BZ 4,8 X
9,5 continued:898-00 Number plate, Mount...............................................................................................4

903-05 Switch, Relay, Horn.................................................................................................2

Oval-head sheetmetal screw
BZ3,5x6,5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 013 956 7
Part Number(s):

Corrosion Protection:

901-00 Regulator, Generator, Starter..................................................................................2

Oval-head sheetmetal screw
BZ4,2x16

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 143 029 02
Part Number(s):

zinc platingCorrosion Protection:

808-00 Seat......................................................................................................................... 2

Oval-head sheetmetal screw
BZ4,2x19

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 143 073 02
Part Number(s):

zinc platingCorrosion Protection:

808-00 Seat......................................................................................................................... 4

Pan-head screw AM2,6x15 (brass)
Cheese-head screw MS

84 15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 014 098 10
Part Number(s):

Corrosion Protection:

Page 58



Porsche 914
Common Hardware Reference

Pan-head screw AM2,6x15 (brass)
continued:809-05 Interior mirror, Glove compartment, Sun visor........................................................ 1

Pan-head screw AM3x8
Cheese-head screw

84
3

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

5.8Grade:

900 014 069 02
Part Number(s):

zinc platingCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 4

Pan-head screw AM4,8
Screw, cheese head, AM 4x8 DIN
84 galvanized

84
4

8DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 010 703 2
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 2
901-15 Engine electrics....................................................................................................... 2

Pan-head screw AM4x10

4
10DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 010 697 1
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 1

Pan-head screw AM4x6
Screw, cheese hd AM 4 x 6 DIN 84
galv.

84
4

6DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

N 010 695 1
Part Number(s):

zinc platingCorrosion Protection:

Page 59



Porsche 914
Common Hardware Reference

Pan-head screw AM4x6 continued:
902-05 Generator, Single parts........................................................................................... 3

Pan-head screw AM5x10

5
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 010 704 2
Part Number(s):

Corrosion Protection:

115-05 Engine cover, Air guide........................................................................................... 2
117-10 Injection system...................................................................................................... 2

Pan-head screw AM5x8

5
8DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 010 811 1
Part Number(s):

Corrosion Protection:

903-15 Steering column switch........................................................................................... 2
903-20 Steering column switch........................................................................................... 2

Pan-head screw AM6x10
Screw, cheese head, AM 6x10
galvanized

84
6

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 37

Grade:

N 010 710 8
Part Number(s):

Corrosion Protection:

115-05 Engine cover, Air guide......................................................................................... 14
115-10 Cooling air control................................................................................................... 2
117-10 Injection system...................................................................................................... 2
202-15 Exhaust system, Heat exchanger......................................................................... 16
901-05 Electrical equipment, Engine...................................................................................3

Page 60



Porsche 914
Common Hardware Reference

Pan-head screw AM6x15 continued:

Pan-head screw AM6x15

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

Grade:

N 010 715 2
Part Number(s):

Corrosion Protection:

115-05 Engine cover, Air guide........................................................................................... 6
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2
301-10 Clutch release......................................................................................................... 1

Pan-head screw AM6x30

6
30DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 010 727 1
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 2

Pan-head screw AM6x8

6
7DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 010 713 1
Part Number(s):

Corrosion Protection:

116-00 Air cleaner............................................................................................................... 2
117-05 Intake connection, Intake pipe, Control shaft.......................................................... 2

Page 61



Porsche 914
Common Hardware Reference

Pan-head screw BM 5 X 35 continued:

Pan-head screw BM 5 X 35
Cheese-head screw

84
5

35DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

8.8Grade:

900 014 096 02
Part Number(s):

zinc platingCorrosion Protection:

201-10 Fuel line...................................................................................................................1

Pan-head screw M10x110
Cheese-head screw

912
10

110DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 067 074 02
Part Number(s):

zinc platingCorrosion Protection:

901-00 Regulator, Generator, Starter..................................................................................2

Pan-head screw M10x150
Cheese-head screw

912
10

150DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

8.8Grade:

900 067 078 02
Part Number(s):

zinc platingCorrosion Protection:

901-00 Regulator, Generator, Starter..................................................................................1

Pan-head screw M10x16

10
16DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 186 125 02
Part Number(s):

Corrosion Protection:

905-00 Headlamp................................................................................................................ 2

Page 62



Porsche 914
Common Hardware Reference

Pan-head screw M10x20 continued:

Pan-head screw M10x20
Cheese-head screw

912
10

20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

8.8Grade:

900 067 063 02
Part Number(s):

zinc platingCorrosion Protection:

402-00 Shock absorber strut, Lubricants............................................................................ 6

Pan-head screw M3x10
Cheese-head screw

84
3

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

5.8Grade:

900 014 079 02
Part Number(s):

zinc platingCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 2

Pan-head screw M4x10
Cheese-head screw

84
4

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

5.8Grade:

900 014 013 02
Part Number(s):

zinc platingCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 6

Pan-head screw M5x10

912
5

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 067 051 02
Part Number(s):

zinc platingCorrosion Protection:

803-00 Lid, Front................................................................................................................. 2

Page 63



Porsche 914
Common Hardware Reference

Pan-head screw M5x18 continued:

Pan-head screw M5x18
Cheese-head screw with hexagon
socket

912
5

18DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

900 067 111 02
900 067 111 01

Part Number(s):

zinc platingCorrosion Protection:

807-05 Interior equipment, Rear......................................................................................... 4

Pan-head screw M5x6
Cheese-head screw

84
5

6DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

5.8Grade:

900 014 054 02
Part Number(s):

zinc platingCorrosion Protection:

901-05 Electrical equipment, Engine...................................................................................1

Pan-head screw M6x10

912
6

10DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

8.8Grade:

N 014 750 3
N 014 750 13
900 067 006 02

Part Number(s):

zinc platingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2
905-00 Headlamp.............................................................................................................. 10

Pan-head screw M6x12

6
12DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 18

Grade:

900 014 004 02
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 5

Page 64



Porsche 914
Common Hardware Reference

Pan-head screw M6x12 continued:
803-00 Lid, Front................................................................................................................. 3
811-00 Roof.........................................................................................................................4
905-00 Headlamp................................................................................................................ 6

Pan-head screw M6x15

912
6

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

8.8Grade:

900 067 009 02
900 067 429 01

Part Number(s):

zinc platingCorrosion Protection:

807-00 Interior equipment, Front......................................................................................... 2

Pan-head screw M6x15 (seat rails)

6912
6

15DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 16

8.8Grade:

900 119 091 02
900 119 017 02

Part Number(s):

zinc platingCorrosion Protection:

808-00 Seat....................................................................................................................... 16

Pan-head screw M6x18

6
18DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

N 014 703 2
Part Number(s):

Corrosion Protection:

901-05 Electrical equipment, Engine...................................................................................3

Page 65



Porsche 914
Common Hardware Reference

Pan-head screw M6x20 continued:

Pan-head screw M6x20
Screw, cheese head, AM 6x20 DIN
84 galvanized

84
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

Grade:

N 010 719 2
Part Number(s):

zinc platingCorrosion Protection:

115-00 Air cooling............................................................................................................... 8
901-05 Electrical equipment, Engine...................................................................................1

Pan-head screw M8x16
Cheese-head screw

7984
8

16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 119 052 02
Part Number(s):

zinc platingCorrosion Protection:

403-00 Steering gear, Steering linkage...............................................................................2

Pan-head screw M8x16 (N 014 707
4)

8
16DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 014 707 4
Part Number(s):

Corrosion Protection:

903-20 Steering column switch........................................................................................... 2
903-25 Steering column switch........................................................................................... 2

Pan-head screw M8x20
Cheese-head screw

912
8

20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

900 067 057 02
900 067 057 03

Part Number(s):

zinc platingCorrosion Protection:

Page 66



Porsche 914
Common Hardware Reference

Pan-head screw M8x20 continued:
403-10 Steering shaft, Steering wheel, Steering column switch......................................... 4

Pan-head screw M8x22

8
22DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 014 709 1
Part Number(s):

Corrosion Protection:

903-15 Steering column switch........................................................................................... 1

Pan-head screw M8x40

912
8

40DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

8.8Grade:

N 014 717 2
900 067 095 02

Part Number(s):

zinc platingCorrosion Protection:

403-07 Steering shaft, Steering wheel, Steering column switch......................................... 4

Pan-head screw M8x45

912
8

45DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 014 715 3
900 067 103 01

Part Number(s):

phosphatingCorrosion Protection:

105-00 Air cooling............................................................................................................... 1

Pan-head tapping screw B3,5x9,5
Tapping cheese-head screw

7971DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

900 138 003 01
Part Number(s):

Bostik phosphatingCorrosion Protection:

115-00 Air cooling............................................................................................................... 1

Page 67



Porsche 914
Common Hardware Reference

Pan-head tapping screw B3,5x9,5
continued:801-05 Frame, Front........................................................................................................... 2

Pan-head tapping screw B3,9x6,5

6.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 011 372 3
Part Number(s):

Corrosion Protection:

117-05 Intake connection, Intake pipe, Control shaft.......................................................... 1

Pan-head tapping screw B4,2x9,5
ZylinderbIechschraube B4,2x9,5
DIN 7971 verchromt

7971 9.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 011 380 1
Part Number(s):

Corrosion Protection:

904-20 Headlight washer system........................................................................................ 4

Pan-head tapping screw B5,5x16
Self-tapping cheese-head screw

7971
5.5

16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 138 029 02
Part Number(s):

zinc platingCorrosion Protection:

898-00 Number plate, Mount...............................................................................................4

Plastic nut M8

934
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

Grade:

900 076 026 40
Part Number(s):

Corrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 9

Page 68



Porsche 914
Common Hardware Reference

Rais. counters. h. tap. s. AM5x15
continued:

Rais. counters. h. tap. s. AM5x15

5
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 148 012 02
Part Number(s):

Corrosion Protection:

811-00 Roof.........................................................................................................................4

Rais. counters. h. tap. s. B2,9x19

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 145 050 02
Part Number(s):

zinc platingCorrosion Protection:

810-00 Decorative fittings....................................................................................................2

Rais. counters. h. tap. s. B2,9x6,5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 140 032 02
Part Number(s):

Corrosion Protection:

804-10 Door glass frame..................................................................................................... 2

Rais. counters. h. tap. s. B2,9x9,5

7981DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 143 057 00
Part Number(s):

zinc platingCorrosion Protection:

810-00 Decorative fittings....................................................................................................4

Page 69



Porsche 914
Common Hardware Reference

Rais. counters. h. tap. s. B2,9x9,5
Chrome continued:

Rais. counters. h. tap. s. B2,9x9,5
Chrome

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

900 145 002 02
Part Number(s):

Corrosion Protection:

812-00 Seat belt.................................................................................................................. 8

Rais. counters. h. tap. s. B3,5x16

7983 16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

900 145 041 00
900 145 104 01

Part Number(s):

stainless steelCorrosion Protection:

807-00 Interior equipment, Front....................................................................................... 10

Rais. counters. h. tap. s. B3,5x19

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

Grade:

900 145 006 02
Part Number(s):

Corrosion Protection:

807-05 Interior equipment, Rear......................................................................................... 9

Rais. counters. h. tap. s. B3,5x25

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 145 062 02
Part Number(s):

zinc platingCorrosion Protection:

808-00 Seat......................................................................................................................... 1

Page 70



Porsche 914
Common Hardware Reference

Rais. counters. h. tap. s. B3,9x13
continued:

Rais. counters. h. tap. s. B3,9x13

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 145 023 02
Part Number(s):

zinc platingCorrosion Protection:

808-00 Seat......................................................................................................................... 4

Rais. counters. h. tap. s. B3,9x19

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 145 022 02
Part Number(s):

zinc platingCorrosion Protection:

808-00 Seat......................................................................................................................... 4

Rais. counters. h. tap. s. B4,2x13

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 145 060 02
Part Number(s):

zinc platingCorrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 6

Rais. counters. h. tap. s. B4,2x9,5

7983DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 145 058 02
Part Number(s):

zinc platingCorrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 6

Page 71



Porsche 914
Common Hardware Reference

Rais. counters. h. tap. s. B4,8x16
continued:

Rais. counters. h. tap. s. B4,8x16

7983 16DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 145 030 02
Part Number(s):

zinc platingCorrosion Protection:

807-00 Interior equipment, Front......................................................................................... 2

Retaining Clip
KL-locking 6 ESN O 8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 012 645 2
999 166 018 02

Part Number(s):

zinc platingCorrosion Protection:

701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 4

Serrated lock washer A3,2
Fan washer

6798
3

3.2DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 115 007 01
Part Number(s):

phosphatingCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 4

Serrated lock washer A4,3
Fan washer A4x3

6798
4

4.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

N 012 116 1
900 115 005 01

Part Number(s):

phosphatingCorrosion Protection:

403-05 Steering shaft, Steering wheel, Steering column switch......................................... 6

Page 72



Porsche 914
Common Hardware Reference

Serrated lock washer A5,1 continued:

Serrated lock washer A5,1

6798
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 115 012 01
Part Number(s):

Bostik phosphatingCorrosion Protection:

902-00 Battery, Fuse box.................................................................................................... 2

Serrated lock washer A8,4

8
8.4DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 012 108 2
Part Number(s):

Corrosion Protection:

118-00 Exhaust gas recirculation, Air injection................................................................... 1

Shake-proof washer A4,3

4
4.3DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 9

Grade:

N 012 121 2
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 2
702-00 Pedals, for cars with, Manual transmission.............................................................2
702-05 Pedals..................................................................................................................... 2
811-00 Roof.........................................................................................................................2
904-20 Headlight washer system........................................................................................ 1

Page 73



Porsche 914
Common Hardware Reference

Shake-proof washer A5,1 continued:

Shake-proof washer A5,1
Tooth lock washer

6797
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 114 018 01
Part Number(s):

Endurion phosphatingCorrosion Protection:

902-00 Battery, Fuse box.................................................................................................... 1

Shake-proof washer A6,4

6797
6

6.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 32

Grade:

N 042 121 3
900 114 010 01

Part Number(s):

Bostik phosphatingCorrosion Protection:

807-00 Interior equipment, Front......................................................................................... 2
808-00 Seat....................................................................................................................... 24
811-00 Roof.........................................................................................................................4
902-00 Battery, Fuse box.................................................................................................... 2

Shake-proof washer A8,4

8
8.4DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 012 132 2
Part Number(s):

Corrosion Protection:

903-05 Switch, Relay, Horn.................................................................................................2

Page 74



Porsche 914
Common Hardware Reference

Shake-proof washer J6,4 continued:

Shake-proof washer J6,4
Tooth lock washer

6797
6

6.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 31

Grade:

900 114 002 02
900 114 003 01

Part Number(s):

zinc platingCorrosion Protection:

801-20 Exterior panelling.................................................................................................... 6
904-00 Windscreen wiper system....................................................................................... 2
904-05 Windscreen wiper system....................................................................................... 1
905-00 Headlamp.............................................................................................................. 10
905-05 Lights.....................................................................................................................12

Shake-proof washer J8,2
Tooth lock washer

6797
8

8.2DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

900 114 021 01
Part Number(s):

phosphatingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 8

Speed nut

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

999 507 002 02
999 507 002 0B

Part Number(s):

Corrosion Protection:

807-00 Interior equipment, Front......................................................................................... 2
809-00 Dashboard, Door mirror.......................................................................................... 6

Page 75



Porsche 914
Common Hardware Reference

Speed nut 4,2 continued:

Speed nut 4,2
for rocker panels?

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

999 507 229 00
Part Number(s):

Corrosion Protection:

801-20 Exterior panelling.................................................................................................... 4
809-00 Dashboard, Door mirror.......................................................................................... 4

Speed nut 4,8
(bumpers/valence)

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

999 507 024 02
Part Number(s):

Corrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 6

Speed nut B3,5
(for gear shift lever assembly)

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 38

Grade:

914 424 235 00
Part Number(s):

Corrosion Protection:

701-00 Transmission control............................................................................................... 1
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 2
801-05 Frame, Front......................................................................................................... 19
810-00 Decorative fittings....................................................................................................8
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 8

Page 76



Porsche 914
Common Hardware Reference

Speed nut B4,2 continued:

Speed nut B4,2
Tapping nut

4
4.2DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 19

Grade:

N 015 429 2
N 015 429 6
999 591 330 02

Part Number(s):

zinc platingCorrosion Protection:

604-00 Brake fluid reservoir, Brake master cylinder........................................................... 2
804-10 Door glass frame..................................................................................................... 2
807-05 Interior equipment, Rear......................................................................................... 1
809-00 Dashboard, Door mirror.......................................................................................... 8
902-00 Battery, Fuse box.................................................................................................... 2
905-00 Headlamp................................................................................................................ 4

Speed nut B6,3
Snap nut

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

999 507 003 02
999 507 003 01

Part Number(s):

Corrosion Protection:

105-05 Air guide.................................................................................................................. 6

Speed Nut, M3.5 x 16.5
Self-tapping nut

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

999 591 338 02
999 591 460 01

Part Number(s):

Corrosion Protection:

905-00 Headlamp................................................................................................................ 4

Page 77



Porsche 914
Common Hardware Reference

Spring washer 8 continued:

Spring washer 8

6798
8

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

900 115 013 01
Part Number(s):

phosphatingCorrosion Protection:

802-10 Bumper, Rear.......................................................................................................... 4

Spring washer A7

137
7

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 028 030 01
Part Number(s):

Bostik phosphatingCorrosion Protection:

901-05 Electrical equipment, Engine...................................................................................1

Spring washer A8

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 5

Grade:

N 012 229 3
Part Number(s):

Corrosion Protection:

116-05 Air cleaner............................................................................................................... 1
118-00 Exhaust gas recirculation, Air injection................................................................... 1
803-10 Lid, Rear..................................................................................................................2
902-00 Battery, Fuse box.................................................................................................... 1

Page 78



Porsche 914
Common Hardware Reference

Spring washer B10 continued:

Spring washer B10

137
10

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 012 230 1
Part Number(s):

Corrosion Protection:

905-00 Headlamp................................................................................................................ 2
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 2

Spring washer B10x18

137
10 18

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

N 012 242 3
900 028 023 01

Part Number(s):

Bostik phosphatingCorrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 4
901-00 Regulator, Generator, Starter..................................................................................2

Spring washer B14

137
14

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 028 026 01
Part Number(s):

phosphatingCorrosion Protection:

812-00 Seat belt.................................................................................................................. 2

Spring washer B18

137
18

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

N 012 239 1
900 028 015 01

Part Number(s):

phosphatingCorrosion Protection:

Page 79



Porsche 914
Common Hardware Reference

Spring washer B18 continued:
403-05 Steering shaft, Steering wheel, Steering column switch......................................... 1
403-07 Steering shaft, Steering wheel, Steering column switch......................................... 1
403-10 Steering shaft, Steering wheel, Steering column switch......................................... 1

Spring washer B4

137
4

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

N 012 224 3
900 028 018 01

Part Number(s):

Bostik phosphatingCorrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 3
902-05 Generator, Single parts........................................................................................... 3
904-20 Headlight washer system........................................................................................ 4

Spring washer B5

137
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

900 028 007 02
Part Number(s):

zinc platingCorrosion Protection:

117-10 Injection system...................................................................................................... 2
202-10 Emission control...................................................................................................... 1
809-05 Interior mirror, Glove compartment, Sun visor........................................................ 1
902-05 Generator, Single parts........................................................................................... 3
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 1

Spring washer B6

137
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 68

Grade:

N 012 226 5
Part Number(s):

Corrosion Protection:

115-00 Air cooling............................................................................................................... 8
115-05 Engine cover, Air guide........................................................................................... 2
115-10 Cooling air control................................................................................................... 4
116-00 Air cleaner............................................................................................................... 2
116-05 Air cleaner............................................................................................................. 10

Page 80



Porsche 914
Common Hardware Reference

Spring washer B6 continued:
117-05 Intake connection, Intake pipe, Control shaft.......................................................... 6
117-10 Injection system.................................................................................................... 10
118-00 Exhaust gas recirculation, Air injection................................................................. 12
202-05 Exhaust system, Exhaust silencer.......................................................................... 3
202-15 Exhaust system, Heat exchanger........................................................................... 4
901-05 Electrical equipment, Engine...................................................................................3
901-15 Engine electrics....................................................................................................... 4

Spring washer B8

8
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 11

Grade:

N 012 228 3
Part Number(s):

Corrosion Protection:

117-10 Injection system...................................................................................................... 2
119-00 Engine carrier.......................................................................................................... 2
902-05 Generator, Single parts........................................................................................... 3
902-10 Wiring harnesses.................................................................................................... 2
902-15 Wiring harnesses.................................................................................................... 2

Spring washer B8x15

137
8 15

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 52

Grade:

N 012 241 1
N 012 241 11
900 028 024 01

Part Number(s):

Bostik phosphatingCorrosion Protection:

115-00 Air cooling............................................................................................................... 6
117-05 Intake connection, Intake pipe, Control shaft.......................................................... 4
117-10 Injection system...................................................................................................... 7
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2
401-00 Front axle, Stabiliser............................................................................................... 2
403-15 Steering gear, Repair material................................................................................ 2
602-00 Disc brake, Front................................................................................................... 16
603-00 Disc brake, Rear..................................................................................................... 4
803-05 Lid, Rear..................................................................................................................1
901-10 Engine electrics....................................................................................................... 3
901-15 Engine electrics....................................................................................................... 1
905-00 Headlamp................................................................................................................ 2
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 2

Page 81



Porsche 914
Common Hardware Reference

Spring washer V5,3 continued:

Spring washer V5,3

6798
5

5.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 115 011 01
Part Number(s):

phosphatingCorrosion Protection:

804-00 Door, with installation parts..................................................................................... 2
811-00 Roof.........................................................................................................................4

Square nut M4

4
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

021 119 725
Part Number(s):

Corrosion Protection:

115-10 Cooling air control................................................................................................... 1

Square nut M5

562
5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

5.8Grade:

900 198 001 02
Part Number(s):

zinc platingCorrosion Protection:

201-10 Fuel line...................................................................................................................1

Straight pin 4M6x14

6
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 012 110 00
Part Number(s):

Corrosion Protection:

118-00 Exhaust gas recirculation, Air injection................................................................... 2

Page 82



Porsche 914
Common Hardware Reference

Stud AM8x50 continued:

Stud AM8x50

8
50DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 014 396 3
Part Number(s):

Corrosion Protection:

117-05 Intake connection, Intake pipe, Control shaft.......................................................... 4

Stud BM 8x20

8 20DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

999 062 006 02
Part Number(s):

Corrosion Protection:

105-00 Air cooling............................................................................................................... 2

Stud M8Ax32

8
8.4
15

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 014 532 3
Part Number(s):

Corrosion Protection:

115-00 Air cooling............................................................................................................... 1

Tab washer 14
Locking plate

462
14

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 038 002 01
Part Number(s):

phosphatingCorrosion Protection:

402-00 Shock absorber strut, Lubricants............................................................................ 2

Page 83



Porsche 914
Common Hardware Reference

Tapping screw 3,9x6,5 continued:

Tapping screw 3,9x6,5

7971
3.9

6.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

900 138 030 02
Part Number(s):

zinc platingCorrosion Protection:

901-05 Electrical equipment, Engine...................................................................................1

Tapping screw 4,8x13

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 3

Grade:

N 013 885 1
Part Number(s):

Corrosion Protection:

901-05 Electrical equipment, Engine...................................................................................3

Tapping screw AM6x18

6
18DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 014 141 2
Part Number(s):

Corrosion Protection:

202-15 Exhaust system, Heat exchanger........................................................................... 1

Tapping screw B4,2x9,5

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 043 890 1
Part Number(s):

Corrosion Protection:

809-00 Dashboard, Door mirror.......................................................................................... 4

Page 84



Porsche 914
Common Hardware Reference

Tapping screw B4,8x22 continued:

Tapping screw B4,8x22

7983 22DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 6

Grade:

900 145 053 07
900 145 053 02

Part Number(s):

zinc platingCorrosion Protection:

807-00 Interior equipment, Front......................................................................................... 6

Tapping screw BZ 2,9 X 19
Metal screw, fillister head, S4,8x13
chromium plated

7981 19DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 013 944 3
Part Number(s):

Corrosion Protection:

905-05 Lights.......................................................................................................................4

Tapping screw BZ4,8x13
also labeled B4,8x13

7981 13DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 7

Grade:

N 013 968 7
900 143 097 01
N 013 968 1

Part Number(s):

phosphatingCorrosion Protection:

803-00 Lid, Front................................................................................................................. 1
901-00 Regulator, Generator, Starter..................................................................................2
902-05 Generator, Single parts........................................................................................... 2
909-00 Catalytic converter, Counter switch, Indicator light................................................. 2

Page 85



Porsche 914
Common Hardware Reference

Tapping screw BZ4,8x9,5 continued:

Tapping screw BZ4,8x9,5
Oval-head countersunk

7981
4.8

9.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

900 143 058 02
Part Number(s):

zinc platingCorrosion Protection:

898-00 Number plate, Mount...............................................................................................8

Threaded pin AM5x6

5
6DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 029 964 1
Part Number(s):

Corrosion Protection:

117-05 Intake connection, Intake pipe, Control shaft.......................................................... 1

Washer - large 5mm
Fender washer for front valence.
VERIFY O.D.

5
5
20

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

999 151 026 02
Part Number(s):

Corrosion Protection:

802-05 Bumper, Front......................................................................................................... 2

Washer — need more info!

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

914 375 162 00
Part Number(s):

Corrosion Protection:

119-00 Engine carrier.......................................................................................................... 4

Page 86



Porsche 914
Common Hardware Reference

Washer 10,5 continued:

Washer 10,5
Sometimes called "Washer 10"

125
10

10.5DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 26

Grade:

900 025 008 02
N 011 527 4
900 025 008 09
900 025 008 04

Part Number(s):

zinc platingCorrosion Protection:

119-00 Engine carrier.......................................................................................................... 2
202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2
401-00 Front axle, Stabiliser............................................................................................... 6
702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1
802-05 Bumper, Front......................................................................................................... 6
802-10 Bumper, Rear.......................................................................................................... 6
905-00 Headlamp................................................................................................................ 2

Washer 15

15
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 011 565 3
Part Number(s):

Corrosion Protection:

902-05 Generator, Single parts........................................................................................... 1

Washer 4,3

125
4

4.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 16

Grade:

900 025 002 02
900 025 002 03

Part Number(s):

zinc platingCorrosion Protection:

115-10 Cooling air control................................................................................................... 1
117-05 Intake connection, Intake pipe, Control shaft.......................................................... 1
801-20 Exterior panelling.................................................................................................... 4
902-00 Battery, Fuse box.................................................................................................... 2
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 8

Page 87



Porsche 914
Common Hardware Reference

Washer 5,1 continued:

Washer 5,1

5
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 4

Grade:

N 011 692 3
Part Number(s):

Corrosion Protection:

901-05 Electrical equipment, Engine...................................................................................2
909-00 Catalytic converter, Counter switch, Indicator light................................................. 2

Washer 5,3
aka Washer A5,3

125
5

5.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 62

Grade:

900 025 003 02
Part Number(s):

zinc platingCorrosion Protection:

115-05 Engine cover, Air guide........................................................................................... 2
201-00 Fuel tank................................................................................................................. 8
201-05 Fuel tank................................................................................................................. 8
801-05 Frame, Front........................................................................................................... 6
802-00 Bumper, Front and rear........................................................................................... 6
802-10 Bumper, Rear.......................................................................................................... 8
803-00 Lid, Front................................................................................................................. 2
807-05 Interior equipment, Rear......................................................................................... 4
810-00 Decorative fittings....................................................................................................2
813-00 Ventilation, Heating................................................................................................. 6
901-00 Regulator, Generator, Starter..................................................................................3
902-05 Generator, Single parts........................................................................................... 1
903-05 Switch, Relay, Horn.................................................................................................5
998-00 Accessories, Radio, Fog headlamp, Headlamp, H 4.............................................. 1

Washer 6

1440
6

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 12

Grade:

900 089 005 02
Part Number(s):

zinc platingCorrosion Protection:

Page 88



Porsche 914
Common Hardware Reference

Washer 6 continued:
898-00 Number plate, Mount.............................................................................................12

Washer 6,4
mislabeled as Washer 5,3 in
section 810-00

125
6

6.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 128

Grade:

N 011 524 7
N 011 524 27
900 025 004 02
900 025 004 01

Part Number(s):

zinc platingCorrosion Protection:

105-05 Air guide................................................................................................................ 23
105-10 Engine cover, Air guide......................................................................................... 25
201-00 Fuel tank................................................................................................................. 2
201-05 Fuel tank................................................................................................................. 1
201-10 Fuel line...................................................................................................................2
202-15 Exhaust system, Heat exchanger........................................................................... 3
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1
702-00 Pedals, for cars with, Manual transmission.............................................................2
702-05 Pedals..................................................................................................................... 2
801-20 Exterior panelling.................................................................................................... 6
803-00 Lid, Front................................................................................................................. 3
803-10 Lid, Rear..................................................................................................................8
804-00 Door, with installation parts................................................................................... 12
804-10 Door glass frame..................................................................................................... 8
808-00 Seat......................................................................................................................... 2
809-00 Dashboard, Door mirror.......................................................................................... 4
810-00 Decorative fittings..................................................................................................10
813-00 Ventilation, Heating................................................................................................. 1
813-05 Ventilation, Heating................................................................................................. 2
901-05 Electrical equipment, Engine...................................................................................3
901-15 Engine electrics....................................................................................................... 2

Washer 7
Washer 7 galvanized

7
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 67

Grade:

N 011 652 1
Part Number(s):

Corrosion Protection:

115-00 Air cooling............................................................................................................... 9
115-05 Engine cover, Air guide......................................................................................... 33
116-00 Air cleaner............................................................................................................... 2
202-15 Exhaust system, Heat exchanger......................................................................... 22
701-10 Handbrake, Manual throttle, Heating, Actuator....................................................... 1

Page 89



Porsche 914
Common Hardware Reference

Washer 7,4 continued:

Washer 7,4

7
7.4DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 011 533 2
Part Number(s):

Corrosion Protection:

115-10 Cooling air control................................................................................................... 1

Washer 8,4

433
8

8.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 5

Grade:

900 031 001 02
900 031 105 01

Part Number(s):

zinc platingCorrosion Protection:

115-00 Air cooling............................................................................................................... 3
702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Washer 8,4 (N-)
Washer 8. 1 (per VW)

433
8

8.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 8

Grade:

N 011 670 1
N 011 558 1

Part Number(s):

zinc platingCorrosion Protection:

202-05 Exhaust system, Exhaust silencer............................................................................
403-05 Steering shaft, Steering wheel, Steering column switch......................................... 4
403-07 Steering shaft, Steering wheel, Steering column switch......................................... 4

Page 90



Porsche 914
Common Hardware Reference

Washer 9,5 continued:

Washer 9,5

9
DIN:

M Thread:
inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 1

Grade:

N 011 654 2
Part Number(s):

Corrosion Protection:

115-10 Cooling air control................................................................................................... 1

Washer A13
Washer 13

433
13

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 011 564 2
N 011 564 4
900 031 002 02

Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................1
702-05 Pedals..................................................................................................................... 1

Washer A4,3
aka Washer 4,3 / Washer B4,3

9021
4

4.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 7

Grade:

900 151 028 02
900 151 028 01

Part Number(s):

zinc platingCorrosion Protection:

604-00 Brake fluid reservoir, Brake master cylinder........................................................... 2
808-00 Seat......................................................................................................................... 4
901-05 Electrical equipment, Engine...................................................................................1

Page 91



Porsche 914
Common Hardware Reference

Washer A6,4 continued:

Washer A6,4

9021
6

6.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 10

Grade:

900 151 003 02
Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear......................................................................................... 10

Washer A8,4
Sometimes labeled "Washer 8,4"

125
8

8.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 75

Grade:

900 025 007 02
900 025 007 03

Part Number(s):

zinc platingCorrosion Protection:

116-05 Air cleaner............................................................................................................... 1
117-10 Injection system...................................................................................................... 7
118-00 Exhaust gas recirculation, Air injection................................................................... 1
119-00 Engine carrier.......................................................................................................... 4
202-05 Exhaust system, Exhaust silencer.......................................................................... 1
202-15 Exhaust system, Heat exchanger......................................................................... 20
604-05 Brake lines.............................................................................................................. 2
701-00 Transmission control............................................................................................... 1
701-05 Transmission control............................................................................................... 2
702-00 Pedals, for cars with, Manual transmission.............................................................2
702-05 Pedals..................................................................................................................... 2
802-00 Bumper, Front and rear........................................................................................... 8
803-05 Lid, Rear..................................................................................................................1
803-10 Lid, Rear..................................................................................................................4
804-00 Door, with installation parts..................................................................................... 6
804-10 Door glass frame..................................................................................................... 2
809-00 Dashboard, Door mirror.......................................................................................... 9
901-10 Engine electrics....................................................................................................... 2

Page 92



Porsche 914
Common Hardware Reference

Washer B3 continued:

Washer B3

137
3

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 028 006 01
Part Number(s):

phosphatingCorrosion Protection:

809-05 Interior mirror, Glove compartment, Sun visor........................................................ 2

Washer B3,2

9021
3

3.2DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 151 019 02
Part Number(s):

zinc platingCorrosion Protection:

811-00 Roof.........................................................................................................................2

Washer B3,7

3.7DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

N 011 663 1
Part Number(s):

Corrosion Protection:

901-00 Regulator, Generator, Starter..................................................................................2

Washer B5,3

9021
5

5.3DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 16

Grade:

900 151 027 02
900 151 027 03

Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 6
802-05 Bumper, Front......................................................................................................... 6

Page 93



Porsche 914
Common Hardware Reference

Washer B5,3 continued:
810-00 Decorative fittings....................................................................................................4

Washer B6,4
Sometimes labeled Washer A6,4

9021
6

6.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 50

Grade:

900 151 006 09
900 151 006 02

Part Number(s):

zinc platingCorrosion Protection:

702-00 Pedals, for cars with, Manual transmission.............................................................2
702-05 Pedals..................................................................................................................... 2
803-00 Lid, Front................................................................................................................. 2
803-05 Lid, Rear..................................................................................................................2
803-10 Lid, Rear..................................................................................................................4
808-00 Seat....................................................................................................................... 16
809-00 Dashboard, Door mirror.......................................................................................... 6
813-00 Ventilation, Heating................................................................................................. 2
901-05 Electrical equipment, Engine...................................................................................2
904-10 Windscreen wiper system....................................................................................... 1
904-15 Windscreen wiper system....................................................................................... 1
904-20 Headlight washer system........................................................................................ 4
905-00 Headlamp................................................................................................................ 6

Washer B8,4
Sometimes called "Washer 8"

9021
8

8.4DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 20

Grade:

900 151 008 02
900 151 015 02

Part Number(s):

zinc platingCorrosion Protection:

802-00 Bumper, Front and rear........................................................................................... 8
802-05 Bumper, Front......................................................................................................... 4
802-10 Bumper, Rear.......................................................................................................... 4
803-10 Lid, Rear..................................................................................................................4

Page 94



Porsche 914
Common Hardware Reference

Washer B8.4 Din 9021 — Al-Mg Si F32
continued:

Washer B8.4 Din 9021 — Al-Mg Si
F32

9021
8

8.4
24

DIN:
M Thread:

inner_diameter (mm):
outer_diameter (mm):

length (mm):
width (mm):
thick (mm):

Used in section(s): Qty

Number used on car: 2

Grade:

900 151 030 30
Part Number(s):

Corrosion Protection:

202-00 Exhaust system, Heating air supply, Engine suspension....................................... 2

Page 95


